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= 12 WjES 77 E FAH@bytes : 320 E T2t |6 HE EAE ¥O0EI) 16HE)
2 HE FAH A7]E sizeof(int)9 TUI 7|2 A

DLAReL ZRIE W - I = T28 77l ASRA 1AH (3 char 55)M A&
7He]71aL glot.
)1 AR AL A= NULL £27F vhed £249] #oldrth

3) ov]
o Array :n 7] WD, (n: AFAS)
7}, char *p;  charater type ] Array £ point(7}2] 7] )3t TAHS B A= WS p(dbytes)

i

AT W p(dbytes)

=

L} int *p; int type 8] Array = point(7}2715)3tE T4 ©
typedef struct Record{

int index;

char number[10];

char name[30];

char *next;
}G Record; // 48bytes == 0x30bytes
t}. G_Record *p; G_Reocrd type 2] Array S point(7}2] 7] )3t T4#S 93l A+ WS p(dbytes)

HF oA

int *p =2 char *p 3 G_Record *p ¥ 57} local Function Yo local variable 2 X112 wl Garbage %t©]
o3t

Global variable 2 Ao} IThA 0\’ =NULL)E A5 o2 HAudd) o3& %7€t

ok garbage TAxgko]l  ‘<Hl R G A S oW E>S T AV <AlARIE S-S T > Ef ol A

point 3k= 3L FES AAHL Y «HRe] G Hlojd XS o & oy AlAEuE
EA7F A g

Char *p

i _
4bytes iizeof(Lhar)

int *p

4bytes iizeof( nt)

G_Record *p

4bytes Lzeof(L_Record)
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1.1.pointer &7
1.1.1. *2} **

int a, *pa **paa;
pa=&a;
ppa=&pa;

=99 oAy ARSI ARG Fod A
7b. Z18 = 1 A4 array & 7H I FA%S

weba EQHel W1l F2E 74 W(nta)t 4 o] E

< W
A ghol B g

AHE-3E o paa[0][0]==**paa==pa[0] == a; T+ F3= 3foFgtr}

F4E Woluhs R2F HAE Stk

a 2|

e AL

Y A (WA 2A T pa=&a;E 27|38} dlonw

a9 array & Hx 3

=A|AH 9dL AcdAY WrgdE oy 99
& A=gea 3 thee Yele]

o

paa[0][0]==**paa==pa[0] == a; <X A| k>

paa[x][y]; /<x,y: [0,n]

paa[0] ==*paa=—pa = &a;<TAu> paa[x]; // paa[1]...... paa[X];
pa[x]; //pa[1], ..., pa[x];
= 19
paa
NN
pa
paafQ] & pal[1]& X & eror
int a; Sizeof
XDaa[1] . D
INES=
as
memory




1.1.2. 22l E{ 2} Hi A
nHs

char *p,i;
p=&i;

2)EQE S 1 2

char *p,a[i];
p = &a[0]; // or = a;

=72

i <A A %> <Fapk>

0 *p__==p[0] ==a[0]; p=—&a[0] —=a;

1 *(pt1)==p[1] ==a[1] &P[1]= &a[l]

= *(p+)—p[i]==ali] &p[l]== &all];

<#a1> char a[10];5 = AFE array ©] T 284 a & &a[0]S YERHE Fagkelth
2} aZk R0 ¥FE ofyt

<char a[10]=“abc”>

BHE a=char *p; M &
pointer 2/ 0] Jt OtLIC}.

(1)

7} (p+D) == p[l]==p 7} 7}&71L Y= FAE sizeof(char) * [ ¥H5 o]5gt3to] 7t 7] &= AA gk
=>p i char *0| &2 O] 554 sizeof(char) *I ©] T},

. #p+l == (p)+1==p[0]+1==p[0]¥] Fkol +1 & T3t A



JHEJE S} 2 A2 A E >1 A EE BE

char *p,a[i][j];
p=&a[0][0]; /=a[0] or =a;

)

<2 A 7k> <

N
y

2>

*p  ==p[0]==a[0][0]

*(p+tD)==P[1] ==a[0][1]

*(pt+i) == p[i] ==a[0][i]

al C++ [break] - [main.c «]

”B File Edit Miew Insert Project Debug Tools Window Help

Q EEE B89 - DER ik Clla 2 #AE5 > mee0|e|B
[Globals) jI[AII global memhersjl $main j@. v HJ@ i é H E}l L] ‘
ES| ftinclude <stdio.h> =
void main()
{
char =p;
char a[2][3]=
{ 123",
“yE e
HH
// How to use 1
Ff p=tka[@][e].;
ff How to use 2
£ p= a[8];
ff How to use 3
p=a; f{
! =} =
=3 ClassView | =] FileView | 1 o
ﬂ antextlmainﬂ ;I ﬂﬂame Value
Name Value a[e1Ls] w o
a 0x0012FF74 aEg%E} ;f g
[+] Bx 0012FF7Y "123056faTEi " a
Be X fetyl a[1][8] 52 'y
a[1][1] 53 "5
a[e][e] ¥ 1
pLo] ¥ 1
pl1] 5@ "2’
pl2] 51 3"
pr3] 52 '
prx] 53 '5’
pI5] 54 6"
[+ Auto / Locals i this 7 A, Watchl 4 WatchZ 5 Watch3 3, Watchd 7

D:#3_Vcprogram# i 22112 -Test1-nit2lmain.c saved

| Ln9,Col 7

[REC [cOL [ovR [READ

10




g EQESH ¥AE mlE
4-1) ESTE] wL(*pli])

char *p[i], **py; char a[2][3] =
{{'a\'b'},
7} <A A k> **py="*p[0]; {'ct'd'}}s
LF<F 223> *py=p[0]; char *p[2];
<T A %> py=&p[0]; p[0] = &a[0][0]; // == a[0];
=p; p[1] = &a[1][0];// == a[1];

++ [break] - [main.c]

[ Eile Edit Mew Insert Project Debug Tools Window Help

18 cHd@ @ 2@ 2 - D ER GfdildMake

.§ [Globals) :_“[AII global memhers_'_!l $ main

| #include <{stdio.h> =
i t2 classes void main()
{
char =p[2], **py;
p[8] = {(char =) malloc{1@);
p[1] = {(char =) malloc{1@});
strcpy{p[8],"123");
strepy(p[1],"456");
/7 how to use 1
py=p;
// how to use 2
f/py=&p[8]; |
‘._. : =1 = . E:> ? i
uCIassVlewléé FI|EVIBWJ 4] »
i antexl:lmainﬂ _'j ﬁ‘jﬂame Value
[[Name Yalue p[ 8] 8x 00438098 123"
. p Bx0012FF73 | pl1] 0x 004308058 456"
| Py BB FETR Gx 80436098 123"
py[1]  BxBeu30es@ Ta56T
' ' _pyrejre; a9
[[]. pl0][1] ;58 "2
pyle][2] 5108
{1 poL1]108] 52 W
fpul1][1] 53 '8t
&

RYLILEL L

<[* 1, Auto { LCocals & this /

|| G20 Watch1 / Waichz % Waicha b Walchd 7

Ready

[Ln 16, Col 20 |REC|COL [OVR [READ 4

11



oft C+ reak] - [main,c]

J'@ File Edit Miew Insert Project Debug Tools Window Help

2 eEd ‘2@ 2y 0 ER | GdbidMake

g (Globals) =1/an giobal members ~|| ¢ main

S #tinclude <stdio.h> &=
i t2 classes void main()
{

char a[2][3] ={{’a",'b'}, {'c","d"}};

char =p[2];

£/ how to use 1

/7 p[o] = &a[o][@]; // == a[®];

f/ p[1] = &a[1][8]:/7 == a[1];

£ how to use 2

p[8] = a[8];

pl1] = a[1];

> b
"a'T-:CIass‘.l'iewli-é FileView | _. T _,f"
i antext:lmainﬂ :j i‘-il'alame Value
| [Name Value p[A] BxBB12FF78 "ab"
. a[1] 8:8012FF7b "cd” pL1] 9= BE12FF7D Tcd”
| E pr11 8x0012FF7b “cd” i pL8IL8] 97 @
| i prej[1] 98 ‘b’
' TR L] 99 ‘c
| pL1][1]

1608 'd’

[+ Auto i Locals & this /

Heady

4-2)8 B 3 JE ((*py)li])

int y[][2]={ {1,2}, {3,4}};

int (*py)[2];

py=y; (why? *py==py[] )
=&y[0];

=y[0] = &y[0][0]; =>suspicious pointer conversion

char a[2][3] =
{{'a,’b'},

fed s
char (*p)[3];

= a; // == &a[0];

12



1.1.3.84 L, Z2lE{7} =7|2H(data F0IE mf) HS O
= Az E£§3] A1

Dp[il[j]=" ": or **py;
T A AT

HH Oea E?_]_ E1 HH OEﬂ j’j—i_?_] E1
&pli][j] *(p+i)H

pli]. &pli] *(pH) pl]0] *(*(prH)H)
2)p[i] or *py;

TGk 2 A 7k

ﬁgm Pl plil *(pH)

13




1.2. Call by reference, call by value, call by address

1.2.1. =48t 2|0[2| call by reference
- Qe W EAHE 9

JESEE = AL

3] =A%t Function & parameter 2 AME 2w vido] ZAEHH HgH)

char a[10]=" abc";
void funcl(char *p)

{
p[1]

|2|;

i
=>funcl(a); P o a[1]¢] HE& W

Ry

3}

char a[10]="abc";
void func2(char p[10])

{
}

=> func2(a); RS o a[1]9] Ul

pl1]="15

<2 W

[] Ruls

3}

<29 1.2.1. void funcl(char*p)<]

4>

<P[1]=2'2 &8>

PI1]

char a[10];

char a[10];

14




1.2.2. Loacl Variable Pointer Return(X)
=> U9 Local ¥2] pointer & return 3} A= <Heth
=>malloc < Kernel alloc ©| 2.2 “g¥o]glt}

Char * caution_return()

{
char temp[500] = “1234567890”;

return temp; // return 531 YAl temp[500]19] F-FF ALERA| AL thE WA S A
}

15




7H

A T

o
-T-

1.3. 21 &k}
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. string_source - Microsoft Visual C++ [break] - [main,c]

J File Edit Wiew Insert Project Debug Tools ﬁf”_d_c_'_f{"_“_ﬁe'p _iﬁligg

A =EE f @R s - EER G Tstchr

[Globals) :j;[ﬁkll global memha:{zsji $test (B
void test() =
{

s_test a ={ 1, "23"};
5_test =p;

i Name Value
| &p->a Bx 0812 fb8Y
i &(p->a) Bx8812fb8A

-———- CRX8814: Error: missing operand

&(p->b[08]) Bx0012fb88 123"
p->b Bx0012Fb88 123"
&p->b[a] Bx0012fb88 123"
@ p->b[ 8] B9 1
; *p->b 49 "1*
§ *(p->b} 49 1

17




1.4. ASCII Chart

«» == “=NULL == 0x00
ol g)<sh o

«. F2149 NULL

<. F212] NULL

¢ ¢ == Space == ¢ == (0x20

1.4.1.ASCIl Character Codes Chart 1

Chl Dec Hex Clar Coda Dac Hax Char Dec Hex Char Dac Hax Chat
@ | 0 |on WL | (32 |2 |=p i [40 | =T T
a1 ol (@ |soE | [3Eo|21 |t 65 (41 | a7 |61 |a
"B | 2 [0z | @ |smx 4 |z | M i |42 |B o |6z | T
oz | 3 |0z |e [Em| |35 |z |4 67 |43 | == T o
“D| 4 |04 |4 [EDD| 36 (2 (G iz (44 |D o |6+ |d
“E | 5 |05 |4 [EMQ| |37 |25 | io |45 |R m |65 | e
CFO| 6 (0f |4 |ACK| |3 |2 |8 m |45 |F wz |66 £
3 | 7 |07 | * |EEL @ |27 |* |47 |G w: 67 (g
“H | & |08 ﬂ =+ 4n |z= | 7 |45 |H w4 |6z |
I 9 (0@ | o [HI 41 |2@ |3 7= |4 |1 ms [se |1
o1 | |oa E LF 42 [za | |4 | w6 |64 |
K |11 0B | § |vr 43 |IE |+ 7 |4 |K w7 |66 |k
L |12 |oz | @ |FF 44 | |, 76 |4z |L ws |sz |1
"M |13 (oD | F|CR 45 |im | — 77 |40 |M 109 | 60 | M
"H |14 [0E | [0 46 |2E |, 7 [4E |N 110 |6E | Tn
"o |18 [0F |k |u 47 |F |/ 7o |4F | 111 |6F |
Bl 16 [0 | |SLE 43 [z |A g0 |50 |P 1z |7 | P
g (17 [ |4 [cx 49 |31 (1 g1 |51 |@Q 11z |71 |q
R (18 |12 |$ |[Dcz |3z |2 gz |52 |R 14 |72 |1
% |19 13 | M |pos | |s1 (= |3 g3 |53 |8 15 |7 | =
~1 (20 |14 [T [Dc4 i | |4 a4 |54 |T s = |+
fuo(al (15| |Hak| s |3 T g5 (55 |U u7 |7 |u
Mol (16 | em | EVH EZI T | 2 g6 |56 ) 118 | 7é v
ez (17 | O|EIE 55 |37 |7 &7 |37 |l 119 |77 | w
fxo|24 (18 | T O |CAN| |56 |33 (g 82 [s8 (X 120 |7 [
oy |25 (19 | L |EM 3T |30 (o g0 |50 |Y 121 (7 |y
°E |36 |14 | = |#E sz |34 |t = I A 122 |74 | =
[ |7 [1B |+ |Esz i |3B | o1 |5 |L 1 (7' | £
~ | |1 | |FE I B P =S Tl 14 |7 |}
1 |ie |10 | |OE 61 |30 [= o [ip |1 15 | 3
~ |z |1E |4 |E$ 62 |3E | * o |FE |~ 1z6 |7E |~
o |31 |1F |w |us 6x |3F (% o5 |3F |— 127 |77 |at

1 ASCH code 127 has the code DEL . Dnder MES-D0E, thiz codehas e sane effect a5 ASCT 2 [BS).
The DEL code can be geverashed by the CTEL « BESFhey

18



1.4.2.ASCIl Character Codes Chart 1

Dz Hax Chu

0
P

»
¥

= 1l

#| A ] —

i

2
| ]

2 I

ET

Fl1

Fi

FE |

2i4 (B0

225 |El
134

227 |E2 T

e (B4 |E
20 |E5 |
230 |Eg

731

234

L]
40

241

241 (F2

M3 | F3

244 |F4

45 (F5
244

M7 [FT

48 (FB

49 (Fo

250 (F&

251

5z |FC M

233 | FD

154 (FE

155 (FF

Dac Hax Char

L

1

= | =

== || ==

Il

L

#
i
:

=]

BHEHEHER

L3

i

192

192 | C1
104
195
194

1o7

108 | Cd

199 (7

200 (8
201

202 | CA

204

210 (D2

211

213 (L4

213 (DS
214 [ Dvd

215 (D7

2l

17 (D=
213 (Db

il2 (DE

220 | DC

221

jxi o]
i (DE
213 (DF

Doz Hax Chat

7

o
-
1L

N

o
-

L1}
nr
mn
N

4 -

|

1

Al

1o | &0

ldl

162 | 42
163 | 43
164 | &4
165 | &5
Iig | &6
16T | &7
16 | A8
16g | 49

Iro1an |—w

172 | AC !5
173 | Al

174 | AE =

175 | 4F |@
176 | B0

177 | Bl

173 | B2

179 | B3

120 | B4

121 | B3

122 | Bd

183 | BT
124 | B2

135 | B2
136 | BA

137 | EE
122 | BC

129 |ep |1
190 |EE |4

191 [BF |q

Lac Hax Cha

138

LY
a
a

A
rl
£
-

£y

o e i

1]
4

30

a1
23
a4
a5
1

87
1]

Y

ac
aD

iF
= 1]

21

u |H

o7
o

=]

130

131

132

133

134

135

134

133

120 (2B
140

141

143
144

145

146

147 |58
142

150

151

152

153

159

19



1.5. Window,Linux(or Unix)X Z24A Xt0[(big endian, Little endian)
> Little Endian : LSB(Z] 5151 9] 2.0 94 v]E)o] A MSB =42 Ao} irk. (3h9]H] E>4k9]H] )
» Big Endian : MSB(H A9 H| E)TE LSB & A o] At} (FYH E-->3} S0 E)

Windows Big Endian|[MSB ~ LSB] Little Endian [LSB ~ MSB]
char [0) X
Int, long X 0
Linux or Unix | Big Endian[MSB ~ LSB] Little Endian [LSB ~ MSB]
char [0) X
Int, long [0) X

#include <stdio.h>
#define UINT4 unsigned int
typedef struct
{
UINT4  ClassA : 8;
UINT4 ClassB: 8;
UINT4  ClassC: g;
UINT4 ClassD: 8;
M _BitlpAddr;/* IP Version 4 Address */

typedef union
{
UINT4 Ip;
M _BitlpAddr Bitlp;
M _IpAddr;// 0xc0a88ec9 == 192.168.142.201

void IntToM_IpAddr(M_IpAddr *IpAddress, UINT4 Ip)

{
char bit_mask[5];
int *cast;
// [2-1]. union type & A 74 ¥ L,
IpAddress->Ip = Ip;
printf("\n1. Ip : 0x%x, IpAddress->Ip : 0x%x\n", Ip, IpAddress->Ip);
printf("IpAddress->Bitlp.ClassA :(0x%x) \n",IpAddress->Bitlp.ClassA);
printf("IpAddress->Bitlp.ClassB :(0x%x) \n",IpAddress->Bitlp.ClassB);
printf("IpAddress->Bitlp.ClassC :(0x%x) \n",IpAddress->Bitlp.ClassC);
printf("IpAddress->Bitlp.ClassD :(0x%x) \n",IpAddress->Bitlp.ClassD);
// [2-2]. Cast AAHS &gk ZkH]al : char > int
bit_mask[0] = 0x21;
bit_mask[1] = 0x32;
bit_mask[2] = 0x43;
bit_mask[3] = 0x84;
cast= (int*)bit_mask;
printf("\n2. cast : 0x%x\n", cast[0]);

H

void main()

20




M_IpAddr m_ipaddress;
IntToM IpAddr( & m_ipaddress, 0xCOASS8EC9);

21




1512 4 M2 MEeli(char -t Int 0| CIE X ZHatA])
5hglo) 4 912 A Suaolth AL Int B0 seutol =R S SH,

[ Eile Edit Wiew Inzert Project Debug Tools Window Help

A EsHE  BE 2y TEE | Gnew
Eg[Gluhals] =] (a1l global membersz|| ¢ IntToM_lpAddr
UINTY ClassB - B;

UINTA  Olased : ) ME Yalue

a55 H H
, i cast[ 0] 0284433221
M_BitIpAddr;/* IP U 4 Add
#M_BItIpAddr;/x ersion ress x/ @ IpAddress Bx0012FF7C
typedef union JH cast 80012 F18

UINTY Ip;
M _BitIpAddr Bitlp;
¥H_IpAddr;// BxcBadB8ec? == 192.168.142.2801

void IntToH IpAddr{M_IpAddr =IpAddress, UIHT4 Ip}

{

char bit_mask[5];
int =xcast;
£ [2-1]- union type?| FH & H| .
IpAddress->Ip = Ip;
printf{"¥ni1. Ip = Bx%x, Ipaddress->Ip : Bx%xWn", Ip, Ipndd
printf{"IpAddress->BitIp.Classh :(B=%x) W¥n",IpAddress->Bit
printf("IpAddress->BitIp.ClassBE :({@=%x) Wn",IpAddress->Bit
printf{"IpAddress->BitIp.ClassC :{@=%x) W¥n",IpAddress->Bit
printf{"IpAddress->BitIp.ClassDh :({@=%x) W¥n",IpAddress->Bit
ff [2-2]- Cast@ALE S5 ZfH| I @ char -> int
bit_mask[ 8] = B8x21;
bit_mask[1] = 8x32;
bit_mask[2] = Bx43;
bit_mask[3] = Bx8h;
cast= (int=)bit_mask;
printf{"¥n2. cast : @x%xMn", cast[8]);

93

void main{)

M_IpAddr m_ipaddress;
IntToM_IpAddr{ & m_ipaddress, BxCBASBECY);

H

L]l _,]"' [+ Watchl / WatchZ § Waich3 3 Waichd 7

A 000121118

CC CC GC GC 80 FF 12 80 76 11 48 60 7C FF 12 00 C9 SE AS CO 00 80 1202 [7...u.@.]...%00. . f!
80 B8 B8 FO FD 7F CC CC CC CC GG CC GG CC CC GC CC CC CC CC CC CC  .......3t- feriferie st
CC CC CC CC CC CC CC CC CC CC CC CC CC CC CC CC CC CC CC CC CC cC  {o{shriShiemisricmiisra sty
CC CC GC CC CC CC CC CC GG CC CC GG CC CC CC CC GC CC C9 S8E A8 co  {5riSrieisdsritrisnisrititine Ch
89 16 40 68 01 00 66 69 70 BE 43 60 BO 6D 43 0O 0@ A0 60 68 68 A ...... B.o.... p-C...Cooounnn =

= Ay23}

1. Ip : 0xc0a88ec9, IpAddress->Ip : 0xc0a88ec9
IpAddress->Bitlp.ClassA :(0xc9)
IpAddress->Bitlp.ClassB :(0x8e)
IpAddress->Bitlp.ClassC :(0xa8)
IpAddress->Bitlp.ClassD :(0xc0)

22




2. cast : 0x84433221

ol
40
0
0

A
v

Sizeof(int)  (Int ip=0xc0a88ec9;)

0xc9 0x8e 0xa8 0xcO

Sizeof Sizeof Sizeof Sizeof

(char) (char) (char) (char)

(0] [11] [2] [3]
A ot %l

Window&l 2= GOl Bf X & & Al

(cast® AHO| L Offset2t Al read/write £ 2)

<29 1.51.7L M _IpAddr  test;o] ™ &2 F32>

23




[RE29 int, char® ol K& &al]

Char bit_mask[5]; int *cast:

bit_mask[0] = 0x21;  bit_mask[1] = 0x32;
bit_mask[2] = 0x43;  bit_mask[3] = 0x84;

cast= (int*)bit_mask:

[7]) (61| [5]f [4]) [3]] [21f [1]{f0| [7]| [6]f [5]| [4]] [31] [2]) [1][0] | [7]] [6]f [B]) [4]| [3]| [2]| [1]j[0] | [71f 61| [5]| [4]] [3]f [2] [1]][0]

char [o|o|t]ofofofofltfofo|1]t][ofof1[o]o]T1

<29 1.5.1.Y}. char => int § =& cast 3+ 2i>

24



1.5.2.Unix(Linux) —= & X & char W bit(2r¢->5+2]), int L bit(&2]->5H2])

=
MEele] /158 Ae WA JSee BHAFTSHA)

>3}

fplmts[scwpark: /home/user/scwpark/test/test 123 | a.out
1. Ip : 0xc0a88ec9, IpAddress->Ip : 0xc0a88ec9
IpAddress->Bitlp.ClassA :(0xc0)
IpAddress->Bitlp.ClassB :(0xa8)
IpAddress->Bitlp.ClassC :(0x8e)
IpAddress->Bitlp.ClassD :(0xc9)

2. cast : 0x21324384
fplmts[scwpark: /home/user/scwpark/test/test 124 |

Int X &4

A2 (Int ip=0xc0a88ec9:) ot
Sizeof(int)
0xc0 Oxa8 0x8e 0xc9
Sizeof Sizeof Sizeof Sizeof
(char) (char) (char) (char)
(ol [1] [2] [3]
-«
a9l 5=l
=l o
ot | Char array M & &t &l A2

<1.5.2.7}. M_IpAddr test;o] ™ &2 ZF>

25




[Linux, Unix2l int, char& o] X% ghal]
Char bit_mask[5]; int *cast;

bit_mask[0] = 0x21;  bit_mask[1] = 0x32;
bit_mask[2] = 0x43;  bit_mask[3] = 0x84;

cast= (int*)bit_mask:

[7]] [61] [5]| [41] [8]| [2]] [11{fo]| [7]1f [e]) [5]f [4]| [3]] [2]| [11j[0] [[7]) (61| [6]| [4]| [8]) [2]] [1]1|l0] | [71| [6]| [5]| [4]f [3]] [2]| [1]|[0]

char ojof1fofo

int

<1.5.2.4}. char > int § 22 cast JAk>

26



1.5.3.C 0| H=22[AM st

int @ dolElo] A ¢ do]9 Shift 42 ¢l7]E= Windows Y Linux(Unix)t} L3 &u)E Jeldc
"FA] Linux(Unix)# 22 2 ¢ 2491 A ¥ Windows Program ©] 23 #c},

23 Y windows program |4 A A A EHE WAL int EFY A zo|7F do).

1.53.1.<<: A4

1.5.3.2.>>: oAl

1.533.int ol A EA bitHA 1 0]} 0 02 A"t 34

27



1.6. EOIE| SAIdAL HOIE|Zhe] 44|01 AHOFFSET)
1.6.1. O{|A| 1. Linux Kernel230—E— MAA

1.6.1.1.422=

typedef struct kmem _slab s

{
struct kmem_bufctl s *s_index;
void *s mem; /* addr of first obj in slab */
char garbage[300];

} kmem_slab _t;

typedef struct kmem bufctl s
{

union

{
kmem_slab t *pbuf slabp; /* slab for obj */

void *buf objp;
fu
} kmem_bufctl_t;

#define object char

/I FZAWE Attribute & AHHH =7] F3}7).
/I &4 WA= (int) (& ((type*)0)->member)
#define slab_size(type, member) (int) (& ((type*)0)->member)

void main()

{
object™® p;
int object_size =5, start , dest;
int value;

char temp[100] ="0123456789abcd";
kmem_bufctl t a[5], *bufp;
kmem slab t  slabp;

// [1]. pointer 2] Index #tS A7].
// [1-1]. test 1.

start = slabp.s_index = &a[0];
dest =bufp = &a[2];

printf("\n1.32 Q1 E] 7Fo] Al (kmem bufctl t*)&a[0]:%x)-((kmem_bufctl t*)&a[2] : %x) == %d\n2.int 3 WA : %d",
bufp,
slabp.s_index,
bufp - slabp.s_index,
dest - start);

//T1-2]. test2 s test 1 ¥} L3 HAE

slabp.s_mem = (char *)temp;

p = (char *)slabp.s_ mem + object_size * (bufp - slabp.s_index);

printf("\n3. p = (char *)slabp.s mem + object size * (bufp - slabp.s_index)==%s\n", p);

//12]. TZ2AU Attributes AFo] = F-8}17].

//[2-1]. TZ2AW Attribute AFo] = F3}7] 1

value = &(slabp.s_mem) - &(slabp);

printf("\n4. %d %d\n", value, slab_size(kmem slab t, s mem));/ EH FE EF3IIT}

28



printf("\n5.  %d\n",( &(slabp.garbage[0]) - &(slabp)) );
printf("\n6. %d\n",( &(slabp.garbage[5]) - &(slabp)) );

//[2-1]. FZ2AY Attribute AFo] 2= G317 2

printf("\n7.  %d\n",slab_size(kmem_slab t,s index));
printf("\n8. %d\n",slab_size(kmem slab t,s mem ));
printf("\n9. %d\n",slab_size(kmem slab_t,garbage ) );
printf("\n10. %d\n",slab_size(kmem_slab_t,garbage[5]) );

File Edit Wiew Insert Project Debug Tools Window Help

EHE | 2@ 2 BEE Gifpew

;j[GIuhals] :_H[AII global memhers:jl $main
void main() il
{ objectx p; Name Value
N P . tenp B¢ 0012FF 08
12: ::izgl-:_sue =5, start , dest; " 1234567892l
! bufp - slabp.s_index 2
char temp[108] ="8123456789abcd™; &a[2]-&a[ 8] 2
kmem_bufctl_t a[5], =bufp; dest-start 8
kmem_slab_t  slabp; p x8012FF12
“abcd”
7/ [1]. pointerL{2| Index ZHE ¢17|. value 1
/7 [1-1]. test 1. &{slabp.s_index) - &(slabp.s index) :@
start = slabp.s_index = &a[ﬂ]i &(slabp.s men) - &(slabp.s_index) I
dest = bufp = &a[2]; &(slabp.garbage) - &(slabp.s_index) 8
printf(™¥n1. EOIE2He| BHAI( (knen bufct] tx)&a[8] : %x)-((kmem buFctl tx)&a[2] : %x) == %d ka[ 8] Oxa012fefh
Wn2.ints W ; %gv, &a[2] 8x8012fefc
bufp, &{s1abp) 0x0012Fdbe
slabp.s_index, &(slabp.s_index) 0x@012Fdbe "
bufp - slabp.s_index, | I
dest - start); &(slabp.s_men}) Bx0012Fdch
"nyl"
77 [1-2]. test2 : test 10} S5t fAE
slabp.s_mem = (char =*)temp;
p = (char *)slabp.s_mem + object_size = (bufp - slabp.s_index);
printf{™#nd. p = (char *)slabp.s_mem + object_size * (bufp - slabp.s_index)==%stin™, p);
£ [2]. PEELY attributes AO|= PTI|.
7 [2-1]. FEHL attributeitd| = F510] 1
value = &(slabp.s_mem) - &({slabp);
printf(™#n4. %d %d¥n", value, slab_size(kmem slab_t, s mem)); // 52 /=% S5},
printf{™#n5. %d#n",{ &({slabp.garbage[8]) - &(slabp)}) );
printf{"#n6. %dwn",{ &({slabp.garbage[5]) - &(slabp)}) );
77 [2-11. PEH|LY atteibute 0| = FELI] 2
printf{"#n7. %d¥n",slab_size(kmem_slab_t,s_index}});
printf{"¥n8. %dWn",slab size(kmem_slab_t,s_mem });
printf{"¥n9. %d#n",slab size(kmem_slab_t,garbage ) );
printf("#n1@. %d¥n",slab_size(kmem slab_t,garbage[5] } J;:
9} =
4 _.1"“ [+ s Watch1 / WatchZ ) Watchd % Watchd /
Ready [ Ln 41, Col 36 [REC|COL [OVA READ

1.¥ 2B 7ke] A (kmem_bufetl t*)&a[0] : 12fefc)-(kmem_bufetl t*)&a[2] : 12fefd) ==
2intd WA .8

3. p = (char *)slabp.s_mem + object_size * (bufp - slabp.s_index)==abcde

4. 1 4
5. 8
6. 13
7. 0
8. 4
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9. 8
10.13

1.6.1.2.24

Int start;

Kmem_bufctl_t
*pufp;

—e

Int dest;

)

1.6.1.21. S F=A| Array ollA Pointer 2| 4[4 (+/-n)

2 1/ : kmem bufetl ta[5];

Kmem bufctl t *od =s index;
od +=2; == &a[2] == &s index[2] bufp =bufp - 2; == &a[0] == s _index;

1.6.1.2.2. ¢ T XA Array ollA pointer E7+2| 14t

2 01/ : kmem bufetl ta[5];

FRAE ] At A FRJAEFS int ol Hobr WA A}
= 24| bytes &k

&a[2] - &a[0] == bufp — slabp.s_index == dest — start == 2 * sizeof(kmem_bufctl t)==

== 2 A 7] 8bytes/sizeof(kmem bufctl t)

30
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1.6.1.2.3. =AU 2| Attribute 2| AN Offset T5171.

[ kmem_slab_t2 ZHI 0l A Attribute®] ACHE offset725t7I]
//ESLst gtal== (int) (& ((type*)0)->member)

#define slab_size(type, member) (& ((typex*)0)->member)

void main()

{
//[2-1]. FZAY Attribute AFo] 2= G317 2
printf("n7. %d\n",slab_size(kmem_slab_t,s index));
printf("\n8.  %d\n",slab_size(kmem slab t,s mem ));
printf("\n9. %d\n",slab_size(kmem_slab_t,garbage ) );
printf("n10. %d\n",slab_size(kmem_slab_t,garbage[5]) );

i

—>492%

7. 0

8. 4

9. 8

10.13
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1.6.2. OI|X 2. =AY attribute 2| offset 735}7|
w22 Alignment -3} 7],

1.6.2.1.482%

#include <stdio.h>

typedef struct list
{

int data;

int sex;

int face;
} Link;

// the offset of member in structure type
#define list_entry(ptr , type, member )\
( &((type *)0)->member) // the offset of member in structure type

int main()

{
Link a;

printf("\n array num of pointer: %x , real offset %x \n",
&a.sex - &a.data , list_entry(0,Link,sex));
return 0;

}

— ga43

| array num of pointer: 1, real offset 4

1.6.2.2. 84
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2. 0{H| 2 = = pointer

2.1.pointer 7| s

1.1 24 array & 7F2] 1T}

FZ7A 139 Array & 7H2] 700

wrebA] ERIHC 54 WAE W7]W BT array 2 Q12 ghoh

ARAo R oA xF A 7ty S el Ak

ERIE7E 7he7l= 99 Hele Z2adwrt 284 Ev HdddA el ==
T2 S jEEolof ft

rol g

Char temp[10];
Char *p = temp;

p
Temp[0] [1] [2] [3] [4] [5]1 (6] [7]1 [8] [9]
Char **p
a2 g1 UCL AN 40 U= R
0]
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2. pointer 8% : call by reference & 383+ 2t &)
Call by reference = T4 S ©]83le] A "oy Eol A L3},

Dstring #&A 7]%5

- source data & destiny ol HA} : ex) string copy, memory copy
- string search

- string compare

2) memory swap

3) function pointer

4) memory (graphic, game | A] sprite FAFs &)
- allocate

- copy
- move
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2.2. &A0H 1:
2.2.1. class pointer DATA. #+=

Data 7%

public : char a[10]; 10 vfol E £2+4

public: char **m_p2Array; | m pArray[5]2] T4E WAWE ©]5 pointer

public: char *m_pArray[5]; | Array pointer

2.2.2.pointer source

#include <string.h> // strcpy
#include <malloc.h> // malloc
#include <iostream.h>

void(*pFuncl)(char *p);
class Pointer{

public :
/1.1 Y 914
char a[10];

/2.1 39 ¥£2A8 vjd3} 2 214 pointer
char **m_p2Array;
char *m_pArray[5];

public:

/Ivoid(*pFunc)(char *p);
void FuncPoint();

void PointPoint();
~Pointer();

Pointer(char p[10]);
void funcl(char*p);
void func2(char p[10]);

¥

/I [1]. Creator
Pointer::Pointer(char p[10])

{
/1.

StringCpy (a,p);
/2.1 29 EE wjd %7]3}

for(int i =0; i<5; i++)

{
}

m_pArray[i]= (char *)malloc(10);

strcpy(m_pArray[0],"abcde");
strcpy(m_pArray[1],"fghij");
strepy(m_pArray[2],"klmno");
strepy(m_pArray[3],"pqrst");
strcpy(m_pArray[4],"uvwxy");
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}

/I [2]. Destructor
Pointer::~Pointer()

{
for(int i =0; i<5; i++)
{
free (m_pArray[i]);
}
}
11'13]
//'[3-1]
void Pointer::funcl(char *p)
{
cout << "before funcl execute.\n" ;
pl1]="1
cout << "after pointer value : " <<a <<"™n";
}
void Pointer::func2(char p[10])
{
cout << "before func2 execute.\n" ;
pl1]="2;
cout << "after pointer value : " <<a <<"™n";
}
I1'[3-2].
/********

(1) 715 :source & dest = string copy
********/

void StringCpy(char *dest, char *source)

{
7 1 ZJAEE o] &3 Y
while((*dest = *source) !="\0")

{

dest ++;
source++;

}
I 2. BE S o] &3 .

R sk sk kR R Rk Rk Rk RSk RSk RSk R Sk Sk sk
int i;

1=0;

while((dest[i] = source[i]) = "0")

{

}

***********************************/

i+t

E
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/********
) 715 2 EAE AE v
*********/

void Swapping(char *a, char *b)

{
char temp ;
temp = *b;
*b = *a;
*a = temp;
}
/1 [3-3]. allocate memory
typedef struct Record {
int index;

char number[10];
char name[30];
char *next;
}G_Record; // 48bytes == 0x30bytes

G_Record *MemoryAllocl(void)

{
G_Record * source ;
source = (G_Record *)malloc(sizeof(G_Record));
return source;

H

G_Record *MemoryAlloc2(G_Record **source)
{

*source = (G_Record *)malloc(sizeof(G_Record));
return *source;

}
/1'[4].
void Pointer::PointPoint()
{
12 7HA
// m_p2Array = m_pArray;
m_p2Array = &m_pArray[0];
for(int i =0; i< 5; i++)
cout << m_p2Array[i] << "\n";
}

I115-1]. A2 A T FERAH AR Q.

void Pointer::FuncPoint()

{
// [1]. class member 7t 4= X 2QE <y
// pFunc = funcl;
// [2].class member & ¢ 3 ¥ERIHE EdZ.
// pFuncl = funcl;
}

//15-2]. C ZZHoA & ¥XUH AHE 7Hs
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int (*m_pFunc)(char *p);

int test(char *p)

cout << "function pointer test :" << p <<"\n";

return 0;

}

#define macro_func test

void main()
{
G_Record **m_pphead = NULL,;
G_Record *head = NULL;
char *temp;
char name[30];
int index =0;

Pointer *Test = new Pointer("Test");

/[ 1]. pointer 9] 2 7R 7% 1) FA2#T AF7].2) NS
/I [1-1].call by refrence
Test->func2(Test->a);
Test->func1(Test->a);

// [1-2]. strepy, swap, W% 2] T3y
/I [1-2-1]. stringcopy

char string1[10] = "string1";

char string2[10];

StringCpy(string2, string1);

cout<< string]l <<" "<<string2 << "\n";

/1 [1-2-2]. swap

char s1="1";

char s2="2";
Swapping(&s1,&s2);
cout<< sl << 82<<"n";

//[1-2-3]. W28 &3

/1. e FFE 1

head = MemoryAlloc1();
strecpy(head->name,"2pst");
strepy(head->number,"2");

cout << head->name << head->number << "\n";
free(head);

/2. W& EFY 2
MemoryAlloc2(&head);

strecpy(head->name," 1 pst");
strepy(head->number,"1");

cout << head->name << head->number << "\n";
free(head);

/3. HEE &I 3
//3-1. G_Record & 10 7§13 = &3F3}7].
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head = (G_Record *)malloc(sizeof(G_Record)* 10);

for( index =0; index <10; index++)
head[index].index = index;

free(head);

z
=

/13-2. AL 640%400+1 bytes S Tt |
temp =(char*) malloc(640%400+1);

StringCpy(temp,"hi, hello son");

free(temp);
// [2]. 1-dimension pointer array, 2 X} ¥<1E] ¥,
/1'2-1].
Test->PointPoint();
//2-2]. G_Record & 10 WA = &33}7].
head = (G_Record *)malloc(sizeof(G_Record)* 10);
m_pphead = &head;

for( index =0; index <10; index++)

{
head[index].index = index;
cout<<"m_pphead" << index, m_pphead[0][index].index;
name[0] = '0"+index;
name[1] =NULL;
StringCpy(head[index].name,name);
}
cout<<"end";
free(head);

//12-3].2 dimension pointer array
m_pphead = (G_Record **)malloc(sizeof(G_Record*)*10);

for( index =0; index <10; index++)

{
m_pphead[index] = (G_Record *)malloc(sizeof(G_Record));
m_pphead[index]->index = index;
name[0] = '0'+index;
name[1] = NULL;
StringCpy(m_pphead[index]->name,name);

}

for( index =0; index <10; index++)
free(m_pphead[index]);

free(m_pphead);

/1311 TIH g
m_pFunc = test;
m_pFunc(Test->a);

//[3-2]. macro SH
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macro_func(Test->a);
delete Test;

2.3.24 M X} Pointer::Pointer(char p[10]) &4

1.7] %

1) Y FA2L 10 ¥ EY)S chara[10]o] HAF

strepy T 10 RO E BF5 JHASHE o] ofyel NULL(\0)S Rhguj7bA] 9] &Agk HARSH
w}e}A] source WAFA O] “abe”#}H 3 HEo]ERF E ALY 31 NULL o] 44 o] 49 €}

2) char *m_pArray[5];E 10 Y}O] E array = W Ee] 3,

m_pArray[0] o= "abede"Z #HS HE

m_pArray[1]9] & "fghij"= &S Y&

m_pArray[2]°l+= "klmno"2 FtS H“

m_pArray[3]°] = "pqrst"Z F %‘—E

m_pArray[4]°] = "uvwxy"Z #S €&

o

2.8 23 doly :

1

o
ok

2=
T

Z8

b
i)

4. input
5. output

6. algorithm

7. Fa

Pointer::Pointer(char p[10])2 &4 2] 3}i= A2 Pointer::Pointer(char *p)¢} & U 3}t}.

Char p[10]°| 4] p = EAE A H 353t}

o o] FZES char p[10]3 2 HE7F &4 oA parameter(argument)Z AL-8-E wjyk T}
HAH 02 array 9 pointer = TFE U}

Pointer : 1 X}] array & 7}2]7]% 3ESQIE (54 %k: memory address reference).

Array :1 ZHl v &.

void main()
{
Pointer *Test = new Pointer("Test"); //?8 %3 A} Pointer::Pointer(char p[10]); A} & =¥t}
~~ / olElE AEE AHE
~~yf Ol T AHF AHET
}

Pointer::Pointer(char p[10])

{
/1.

StringCpy (a,p);
/2.1 24 X909 aig =713}

for(int 1 =0; i<5; i++)

{
}

m_pArray[i]= (char *)malloc(10);
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strcpy(m_pArray[0],"abede");
strcpy(m_pArray[1],"fghij");
strepy(m_pArray[2],"klmno");
strepy(m_pArray[3],"pqrst");
strepy(m_pArray[4],"uvwxy");
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2.3.1. StringCpy (a,p);strcpy(a,p)= AtEd £ 7+=3siCt.

=>strepy ©F & U A 2=olt}

char a[10];

I A A A AI
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2.3.2.1 Xt3 =2l HfE =7|=}

char *m_pArray[5];
for(int i =0; i<5; i++)
m_pArray[i]= (char *)malloc(10);

strepy(m_pArray[0],"abede");
strepy(m_pArray[1],"fghij");
strepy(m_pArray[2],"klmno");

strepy(m_pArray[3],"pqrst");
strepy(m_pArray[4],"uvwxy");

m_pArray[0

[0]
m_pArray[1]
m_pArray[2]
m_pArray[3]

[4]

m_pArray [4
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2.4 2B X}

Pointer::~Pointer()
1.7]%5:
2) char *m_pArray[5]; ™ X2 A

oL

23 Holy :

2.

i)

o

oy M
s

(e}
o

hed
i)

4. input
5. output

6. algorithm
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2.5.call by reference of parameter
void Pointer::funcl(char *p)Z} void Pointer::func2(char p[10])=

paremeter E}}o] S| A| ¥t char p[10]2 F}X] char*p A3 EJEHZ P 2 & 571 Aok
o char p[10]©] 3479 parameter = AF8E @ik 18]35},

ColA &5 A< :return type function name (parameters);
- return_type : int, char etc..,
- parameters : int destiny, int source etc...,

_
)

= A (parameter = W& pointer)T p[l1]e] #= ‘IEE 2= WA gk

b o N of
AN
N
L)

N
rf

S e o
o
juie/n
$ o

a

nhk v
=

B

S

=4

6. algorithm

=>Source

Void main()
{

s /| BN BRI ZE ALS(TE)
/I [1-1].call by refrence
Test->func2(Test->a);
Test->func1(Test->a);

s ] BAIFE BE S

}

<P[1]=22 &8>

PI1]

o [re[slew [T ]

char a[10]; char a[10];
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2.6.string copy 2t swapping
2.6.1.StringCpy(): strcpy() &=

void StringCpy(char *dest, char *source)

1.7]%

source 7} 71271 AL S dest EQ1E| 7} 7F2] 7] character array o] EAL
EF strepyOHF T TG Aol

s
o

288

gy

3.8

s
oL

P
4. input
5. output

6. algorithm
) ¥ 1 20" T3

ftlo

F9 BAby

pul

2) B 2 EAHE WAAY A o] Hap

/********

(1) 715 :source & dest = string copy

********/
void StringCpy(char *dest, char *source)
{
0 1. EJEE o] &% U
while((*dest = *source) !="0")
{
dest ++;
source++;
}
I 2. HiEE o]&3 .
/***********************************
int i;
1=0;
while((dest[i] = source[i]) !="0")
{
it+;
}
***********************************/
}
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2.6.1.1.example
Ex)

char destiny[10];
char string[10] = “abc”
StringCpy(dest, string);

2.6.1.2.example(2.6.1.1.) trace
void StringCpy(char *dest, char *source)2] dest pointer <= char destiny[10];2] & A2} EZQIHE
FA=E REH=T Suorce pointer &£ string[10]9] A5 A2 ZAHE FAE Wt

2.6.1.2.1.StringCpy()2| Parameter 7} gt= Y= Routine

* *SoUrce); >

dest source

B

char destiny[101; char string[10]=*abc”

2.6.1.2.2.StringCpy()A & = = =H

1) StrCpy(Yti -¢] W< trace

<t Ff ofo] >

- dest 2} source : StrCpy()H -1 4=

- @A e B2 ES o] 83 WRelA AL8¥ Local variable int i ©] th>

22 AolN BAEA —

3]~ | dest Source while((*dest = *source) !="0") dest ++ source++

() R R A
1(0) | &destiny[0] &string [0] while((destiny[0] = source[0])!="\0") &destiny[1] &string[1]
2(1) | &destiny[1] &string [1] while((destiny[1] = source[1])!="\0") &destiny[2] &string [2]
3(2) | &destiny[2] &string [2] while((destiny[2] = source[2])!="\0") &destiny[3] &string [3]
4(3) | &destiny[3] &string [3] while((destiny|[3] = source[3])!="\0")

2) while((*dest = *source) !="0")2] &

e ol 2AEA —

3]4%(@1) | *source o] WEE 3k (*dest = *source)
1(0) source[0]=="a’ destiny [0]=source[0]=="a’
2(1) source[1]=="b’ destiny [1]=source[1]=="b’
32) source[2]=="¢’ destiny [2]=source[2]=="c’
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4(3) | source[3]==NULL=="\0" | destiny [3]=source[3]==NULL=="\0’
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3)StringCpy()2! 3 4 7}

< StringCpy(charxdest, char xsource); >
dest source
H 3t E pointer?l X|

StElpointersl XI

char string[10]=%*abg”
char destiny[10]; ol10]
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2.6.2.swapping

void Swapping(char *a, char *b)
1.7]%

a7k 7471 B4 SE b7} bl B4 shush al.

2883 Holy

3489 P
4. input
5. output

6. algorithm

7. Fa

2.6.2.1.example1

Ex)
chart="‘y’;
chars = ‘z’;
Swapping(t,s);

172E] 1

O
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2) JH 2

3) JHl 3

i ] 32X
emp 7 1A R 2E=A

' o
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4) el 4

temp
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2.7. memory allocation 2t

<2229 AEofA &>

void main

{
G_Record *head = NULL;

//[1-2-3]. W=7 Py

A1, HREE g3 1

head = MemoryAlloc1();
strecpy(head->name,"2pst");
strepy(head->number,"2");

cout << head->name << head->number << "\n";
free(head);

/2. ME2] I 2
MemoryAlloc2(&head);

strecpy(head->name," 1 pst");
strepy(head->number,"1");

cout << head->name << head->number << "\n";
free(head);

/3. R P 3
//3-1. G_Record & 10 7|1 = &F3}7].
head = (G_Record *)malloc(sizeof(G_Record)* 10);

for( index =0; index <10; index++)
head[index].index = index;

free(head);

s

/13-2. ZXE 640%400+1 bytes & I3t W
temp =(char*) malloc(640%400+1);

StringCpy(temp,"hi, hello son");

free(temp);

2.7.1. 24 1(return 2#): G_Record *MemoryAlloc1(void)

typedef struct Record{
char number[10];
char name[30];
char *next;

}G_Record;

G_Record *MemoryAlloc1(void)
1.7] %5 : sizeof(G_Record)TH2] &3S

i)
oft
]
v
v}

e
Z

83k dolg :

2

1<)

1+

o
ol

ad

3.
4. input

5. output
sizeof(G_Record)RH7¢] 3-7H3 o

ok
o
o
i)
r o
v
il
AL
)
%t
i
v
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6. algorithm

7. Fa

8.source

G_Record *MemoryAllocl(void)
{

G_Record * source ;
source = (G_Record *)malloc(sizeof(G_Record));
return source;

<d|A].2.2.2 A~>

void main

{
G_Record *head = NULL;
/1. H2Y SFH 1
head = MemoryAlloc1();
strecpy(head->name,"2pst");
strepy(head->number,"2");
cout << head->name << head->number << "\n";
free(head);

G_Record *head;

0\
A

\
\

head = MemoryAlloc1 ()‘
= 1SN :
head = source://= At \ #(y

\ < G_Record *MemoryAlloc1(void)>

\

soufce .\

Sizeof(G_Record)
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2.7.2. 4 2(parameter return )- G_Record *MemoryAlloc2()

Typedef struct Record{
char number[10];
char name[30];
char *next;

}G_Record;

G_Record *MemoryAlloc2(G_Record **source)
1.7]%5: sizeof(G_Record)TH9] &3+ 3

2883 Holg :
3889 o

4. input(parameter)
1) G_Record **source : sizeof(G_Record)¥H5 2] 37H& st & 3E1H source 9 @t ZEFH T

5. output
sizeof(G_Record)WHF9] 337ts st & XEQIH *source 9 7S ZH I

6. algorithm

7. source

G_Record *MemoryAlloc2(G_Record **source)
{

*source = (G_Record *)malloc(sizeof(G_Record));
return *source;
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<2229 AREAA 2>

void main
{
G_Record *head = NULL;
/2. A2e g3y 2
MemoryAlloc2(&head);
strcpy(head->name," 1pst");
strepy(head->number,"1");
cout << head->name << head->number << "\n";
free(head);

G_Record *head;
head == *source;

AN W = &head;
’ ~e |G_Record **source;

2.(*source) =(G_Record*)mallog(sizeof(G_Record);

‘ Sizeof(G_Record)

< G_Record*MemoryAlloc2(G_Record**source) >
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2.7.21.9# A

Ex)
G_Record *head,;
MemoryAlloc2(&head);

source

head
Sizeof(G_Record)

1. MemoryAlloc2(&p);

D Aol S=sast e 54
G_record *head = (G_Record *)malloc(sizeof(G_Record); =2 head = (G_Record *)malloc(sizeof(G_Record);

2) AFE A

G_Record ** source;°ll A source = &head;”} H-AFE T}

71219 source W ApA| o)W = gk 7hE] 7)) B SHH TR 713 (o AA Fh(pointer 7} o ghol
U= oujolm

source == &head;

(*source) == head; (source 7} 7}2] 7] 329 A A FE-2 head 9} &
-2 A

(*source) = (G_Record *)malloc(sizeof(G_Record); 2] 7| = o}&ll ¢} &3t on] 7} wt},
head = (G _Record *)malloc(sizeof(G_Record);

ol

oh
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2.7.3. 248 3(2 UH& malloc 2t 0[EH)

void main

{

G_Record *head = NULL;

/3. W2e Y 3
//3-1. G_Record & 10 /1A= &3F3}7].
head = (G_Record *)malloc(sizeof(G_Record)* 10);

for( index =0; index <10; index++)
head[index].index = index;

free(head);

oft
i

/13-2. EAE 640%400+1 bytes & E33}=
temp =(char*) malloc(640%400+1);

StringCpy(temp,"hi, hello son");

free(temp);

2.7.3.1 A4 1(G_Record H°| & 10 v g F7+77])

G_Record*head; head = (G_Record *)malloc(sizeof(G_Record)* 10);

head[0]

head[1]
head[2]
head[3]
head (4]
head[5]
head[6]
head[7]

head[8]

head[9]
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2.7.3.2.9 A4 2((640*400+1bytes T'33}7])

temp =(char*) malloc(640%400+1);

char xtemp:

60



2.8.0|5(2 AH3) ZAE{H 2} (1 XH¢l)ZEQIE array
2.8.1.04| x| 1

void Pointer::PointPoint()

1.7] %

char **m_p2Array;°ll char *m_pArray[5];2] T4E 7F Yt}
2283k Holy

3.493 g

4. input

5. output

6. algorithm

7. %A

FLIY WMFE LAH WHE Tl BF 124 ofdlolE et

8. source
<2.2.2. source>

void Pointer::PointPoint()
{
2744 Wl
/l m_p2Array = m_pArray;
m_p2Array = &m_pArray[0];
for(int i =0; i< 5; i++)
cout << m_p2Array[i] << ™n";
}

<3 23444 :m pArray 9 2 A data 7} %718} F ol >

M_p2Array

m_pArray [0

[0]
m_pArray[1]
m_pArray[2]
m_pArray[3]

[4]

m_pArray [4

<7|&>
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= :means copy
== : means equal

2.8.1.1.%7]3 2

%73} 7]

m_p2Array =m_pArray == &m_pArray[0] .2 % 7|3} m_pArray array & 1 29 vjgd 2 Q145 A
a9 Z2F oA o

LA, m_p2Array & m_pArray 7} 0 5-E
4 A QEAE RErg ox] ZE 0
b 47 A2 eE s Aotaokat,

(F o] dlA AzmolA..)

1.8.1.%7]3}

rot
o
o,
it
i

2% 7]3}
TC -

m_p2Array = &m_pArray[0];/ Y+ m_p2Array = m_pArray;

m_p2Array == m_pArray == &m_pArray[0];

m_p2Array[0] == m_pArray[0] == “abcde”E 7}2]7]+= T4 3h(&m_pArray[0][0] == &m_p2Array[0][0])
&m_p2Array[0][1] == &m_pArray[0][1] == “bede”Z 7}2] 7] F4%t

&m p2Array[0][2] == &m_pArray[0][2] == “cde” S 7}E] 7= F4 3

&m_p2Array[0][3] == &m_pArray[0][3] = “de”Z 7}e]7|= FA2t

&m_p2Array[0][4] == &m_pArray[0][4] == “e” & 7}2]7]= TAu

m_p2Array[1] == m_pArray[1] == “fghij”& 7}2]7]+= T4 %(&m pArray[1][0] == &m_p2Array[1][0])
&m_p2Array[1][1] == &m_pArray[1][1] == “ghij” & 7}2|7]+= T42%

&m_p2Array[1][2] == &m_pArray[1][2] == “hij” & 7}2|7]+= T4u

&m_p2Array[1][3] == &m_pArray[1][3] == “ij"E 7}2]7|= T4 %k

&m_p2Array[1][4] == &m_pArray[1][4] ==& 7}E| 71 T2

m_p2Array[2] == m_pArray[2] == “klmno”& 7}2] 7] T4 %k (&m_pArray[2][0] == &m_p2Array[2][0])
&m_p2Array[2][1] == &m_pArray[2][1] == “lmno” & 7}2]7]+= T4 %

&m_p2Array[2][2] == &m_pArray[2][2] == “mno”Z 7} 7= FAu

&m_p2Array[2][3] == &m_pArray[2][3] == “no”E 7}2]7]= FA2 4t

&m_p2Array[2][4] == &m_pArray[2][4] == “0" & 7} 7]+ T4k

m_p2Array[3] == m_pArray[3] == “pqrst”& 7} 7] 42 7k(&m_pArray[3][0] == &m_p2Array[3][0])
&m_p2Array[3][1] == &m_pArray[3][1] == “qrst”E 7}2]7]+= T4

&m_p2Array[3][2] == &m_pArray[3][2] == “rst”’Z 7}E]7]E F42%%

&m_p2Array[3][3] == &m_pArray[3][3] == “st"Z= 7}2]7] &= T2k

&m_p2Array[3][4] == &m_pArray[3][4] = “t "& 7} 7= FA

m_p2Array[4] == m_pArray[4] == “uvwxy” & 7}2| 7]+ T4 (&m pArray[4][0] == &m_p2Array[4][0])
&m_p2Array[4][1] == &m_pArray[4][1] == “vwxy’E 7}2]7|&= T4 %

&m_p2Array[4][2] == &m_pArray[4][2] == “wxy’& 7} 7] TAa%k

&m_p2Array[4][3] == &m_pArray[4][3] == “xy”& 7}&]7]& TAa%k

&m_p2Array[4][4] == &m_pArray[4][4] == “y"& 7}&] 7= A%

<7 %>
= :means copy
== : means equal
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2.8.1.3. 593 A3k

=>18.1.014 =713} 35 T3 2A

m_p2Array[0][0]== m_pArray[0][0] ==

Nﬁ

“abede”?] Z} HlOlEZES A&

m_p2Array[0][1]==m_pArray[0][1] == ‘b’

m_p2Array[0][2]== m_pArray[0][2] == ‘C’

m_p2Array[0][3]== m_pArray[0][3] == ‘d’

m p2Array[0][4]== m_pArray[0][4] == ‘¢’

m_p2Array[1][0]== m_pArray[1][0] == ‘f’ “fghije] 7} wlolERLS A+
m_p2Array[1][1]==m_pArray[1][1] == "g’

m_p2Array[1][2]==m_pArray[1][2] == ‘h’

m_p2Array[1][3]==m_pArray[1][3] =1’

m_p2Array[1][4]==m_pArray[1][4] ==}’

m_p2Array[2][0]== m_pArray[2][0] == ‘k’ “klmno”2] Z} WFO]|EZS F <t
m_p2Array[2][1]==m_pArray[2][1] == ‘T’

m_p2Array[2][2]== m_pArray[2][2] == ‘m’

m_p2Array[2][3]==m_pArray[2][3] == ‘n’

m p2Array[2][4]==m pArray[2][4] == ‘0O’

m_p2Array[3][0]== m_pArray[3][0] == ‘p’ “parst”®] Z} wlo]EZLS A
m_p2Array[3][1]==m_pArray[3][1] == °q’

m_p2Array[3][2]==m_pArray[3][2] == ‘T’

m_p2Array[3][3]==m_pArray[3][3] == ‘s’

m_p2Array[3][4]== m pArray[3][4] =1’

m_p2Array[4][0]== m_pArray[4][0] == ‘W’ “uvwxy”9] 7} HlolEZLS A
m_p2Array[4][1]==m_pArray[4][1] ==V’

m_p2Array[4][2]==m pArray[4][2] == ‘W’

m_p2Array[4][3]== m_pArray[4][3] == ‘X’

m_p2Array[4][4]==m_pArray[4][4] ==y’
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2.8.2.0{ | 2- sizeof(G_Record ) : G_Record 2| size

typedef struct Record

{
char number[10];
char name[30];
char *next;

}G_Record;

<1 22 A~ Fa>

void main()

{
G Record **m_pphead = NULL;

G_Record *head = NULL;

//12-2]. G_Record & 10 A = &3F3}7].

I [2-2-1]. Z7)13HE

head = (G_Record *)malloc(sizeof(G_Record)* 10);
m_pphead = &head;

// [2-2-2]. Data 7] 3}
for( index =0; index <10; index++)
{
head[index].index = index;
cout<<"m_pphead" << index, m_pphead[0][index].index;

name[0] = '0'+index;
name[1] = NULL;
StringCpy(head[index].name, name);
}
cout<<"end";
free(head);

2.8.21.%27| 315 &
head = (G_Record *)malloc(sizeof(G_Record)* 10);
m_pphead = &head;
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G_Record**

m_pphead; G_Record*head;

Head[0
m_pphead ead(0]

= 8head Head[1]

Head[2]
Head[3]
Head[4]
Head[5]
Head[6]
Head[7]
Head[8]

Head[9]

head = (G_Record *)malloc(sizeof(G_Record)* 10);
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2.8.2.2.data 7] 3H([2-2-2].

Data %7|3} )

G_Record*

. G_Record*head;
m_pphead;

Head[0]
m_pphead

= &head Head[1]

Head (2]
Head(3]
Head[4]
Head(5]
Head[6]
Head(7]
Head(8]

Head[9]

head = (G_Record *)malloc(sizeof(G_Record)* 10);
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2.8.2.3.5 Y 3 data,pointer
2.8.2.3.1.5 Y5t record TH 2 FAEL, atrribute =27k

7}, %2713}

27|38}
m_pphead = &head ;

U 5d3 record &8 F42H

m_pphead[0] == &m_pphead[0][0] == &(*(*(m_pphead+0)+0))==*(m_pphead+0)
==head == &head[0] == &(*(head+0)) == head[0]9] int index=0 & 7}2]7]&= T2zt
m_pphead[0]+1== &m_pphead[0][1] == &(*(*(m_pphead+0)+1))=="(m_pphead+0)+1
==head+1== &head[1] == &(*(head+1)) == head[1]2] intindex=1 2 7}&7|= F42F
m_pphead[0]+2==&m_pphead[0][2] == &(*(*(m_pphead+0)+2))==*(m_pphead+0)+2
==head+2== &head[2] == &(*(head+2)) == head[2] 2] int index=2 < 7}&| 7= T4 %
m_pphead[0]+9==&m_pphead[0][9] == &(*(*(m_pphead+0)+9))==*(m_pphead+0)+9
==head+9== &head[9] == &(*(head+9)) == head[9]2] int index=9 = 7}2]7|= F4%k

[l :+1,49,-1,-9 52 V] (n: A=)

+n 9] 7]+ m_pphead[0], m_pphead[0][j]7} il A= whkel FAgk(pointer) F-> AA|gholtkol wef A H =
oju7} th=t}

=>m _pphead[0]+n == m_pphead[0]©] B3 = F(==TFT2AF, pointer) + n*sizeof(G_Record)2] 2]7]o]T}

= AA dFZE=Z25H n WA record & 7HE] 7] ERQIHE o]EdtetE 9w

=>m_pphead[0][j].index +n == m_phead[0][j].index 7} T3 A= #EE=A A +n S =l (:0~9)
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t}. Debugging 3}
- Name : pointer
- Value : pointer at(5=4>%k)

31> G Record 9] sizeof(G_Record)== 48bytes==0x30bytes ©] T} “L&|A] Value 7} 0x30 % S 7}3Fa Q) th.

., CPointer - Microsoft Wisual C++ [break] — [CPaointer, cppl 10| =|

JJIE] File Edit Miew Insert Project Debug Tools Window Help =1 =]

JJ”‘i% = = = =0 - o - | B | G [WM_CANCELJOURNAL -~

J] [Globals] L”[AII global memhers;” e main LI

[ 0 20| E=EE | > PG 0 | |[ESEOBEa
74 [2-2]. G_Record= 18213 = ZF=FEH2 . ZI
head = (G_Record *)malloc{sizeof{G_Record)= 18);

m_pphead = &head;

Ffor{ index =08; index <18; index++)

{
head[index].index = index;
cout<< ""m_pphead”™ << index, m _pphead[8][index] .-index;
name[8] = "@8"'+index;
name[1] = HULL;
StringCpy{head[index] -name ,name) ;
¥

v

cout<<"end"" ;

free(head) ;

g
5

:J:II Mame VYalue -
m_pphead[ 8] Axa/4317cA
&m_pphead[B8][1] 8= 864317F8
&m_pphead[B8][2] Bx 864318208
&tm_pphead[B8][3] Gx 88431858
&m_pphead[8][4] A= 88431888
&m_pphead[B8][5] A= 8684318bA
&m_pphead[8][6] 0x 0043188
&m_pphead[B][7] gx 86431218
&tm_pphead[B][8] Bx 88431948
&m_pphead[B8][2] 8= 868431978

HE

*={m_pphead+8j)+1 Ax004317F0
*{m_pphead+8)+2 A=00431820
*={m_pphead+8)+3 B=88431858
*{m_pphead+8j)+4 Ax /4318808
*#={m_pphead+8})+5 Az 8084318bA
*={m_pphead+8)+6 0x 0043188
*{m_pphead+8)+7 B=004319218
*={m_pphead+a)+8 B=8843192408
*{m_pphead+8})+9 Ax 88431978

ST T Watchi 7 Waieh s S Waiehs S Waichd 7

Ready i
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. U3 record & attribute FTAZ(E] AILIEEHIHE FL FA)

1.index & T4k

Head == &head[0]==m_pphead[0] == &m_pphead[0][0] ==0" record = 7}2]7]= T2 E <1 2]
1% attribute & 7}2] 7] & pointer

==& (m_pphead[0]->index) == &(m_pphead[0][0].index) == &m_pphead[0][0].index

== &(head ->index)== &(head|0].index) == &((*(head+0)).index)

==head[0]9] intindex=0 = 7}2|7|= F42u

Head+1==&Head[1]==m_pphead[0]+1==&m_pphead[0][1]== 1" record = 7} 2] 7] FZA E2NE <]
1* attribute & 7}2] 7] = pointer

==& (m_pphead[0][1].index) == &m_pphead[0][1].index

== &((head+1)->index)== &(head|1].index) == &((*(head+1)).index)

==head[1]9] intindex=1 & 7}2]7|= T4

Head+9==&head[9]==m_pphead[0]+9==&m_pphead[0][9]== 9" record = 7}&]7] = TZ A E<IE <]
1* attribute & 7}2] 7]+= pointer

== &(m_pphead[0][9].index) == &m_pphead[0][9].index

== &((head+9)->index)== &(head|9].index) == &((*(head+9)).index)

==head[9]9] intindex=9 = 7}E|7|= F42u
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<% G _Record 9] index 2} attribute & T4 %L >

FI|E Edlt '\-"|ew Insert F'rojec:t Debug TUD|S Wlndow Help
S BT |

z‘:%a-:§ ) _»_j;ga lobal :i?%‘,i'ﬁ?iﬂﬂ&;:j; & main :__j o,

4 [2-2]- G_Record= 18213 T =F=atD] - 21
head = (G_Record =#)malloc(sizeof{G_Record)= 18);
m_pphead = &head;

for{ index =8; index <18; index++)
{
head[index].index = index;
cout<< ""m_pphead” << index, m_pphead[8][index].-index;

ﬁ Name Value
s 8200431820
Bx 80431838
Bx 00000000

index 8% 0000000E ..$ﬁ?t$ﬁ?t?K?ﬁ?ﬁ?ﬁ?t$ﬁ*t$ﬁ?t?ﬁ?ﬁ?ﬁ?ﬁ?ﬂ?ﬁ?t?ﬁ?t "

&m_pphead[ 8][ 8] 0200431830

&head[1]  Bx08431860

B o e T
T e
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2. G _Record 2] char name[30] 7}E8l7]1= F4 %k

M_pphead[0]->name == m_pphead[0][0].name
== head ->name== head[(0].name == (*(head+0)).name
==head[0]9] char name[30]=="0"% 7}&2|7]&= TA4u

M_pphead[0][1].name
== (head+1)->name== head[1]|.name == (*(head+1)).name
==head[1]9] char name[30]=="1"% 7} 7] TAa#k

M_pphead[0][9].name
== (head+9)->name== head[9].name == (*(head+9)).name
==head[9]9] char name[30]=="9"% 7}&E|7|= T4u

[Za1]

- char name[30];° A name==&name[0]°] &= T4 S ol v] g},

- char name[30];> G_Record T-ZA| Woll A 4 =4 (offset) 7}
14bytes(0xOEbytes)==sizeof(int)+sizeof(char number[10])°] t}.

[(FFaL :+1,49,-1,-9 5] "] (n: BF)

+n 9] ©]"]= m_pphead[0], m_pphead[0][j]7} T AT Fko]l F2AFk(pointer) &2 A gLeolvkell  whe} A ==
ojm| 7} 2t}

=>m pphead[0]+n == m_pphead[0]©] @ Y= F(=F4 3L, pointer) + n*sizeof(G_Record)] 21| o|t},

= A dFZE=Z25YH n WA record & 7H 7] ERIHE o]sstete 9wl

=>m_pphead[0][j].index +n == m_phead[0][j].index 7} ©3L A= =2 Aol +n S =k (:0~9)
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<1¥ G_ Record /] name 2} attribute 2

g[GIuhaIs] :ji!&ll global memberﬁlﬁ .mam

/7 [2-2]. G_Record= 10014 © = =faf)|. :{i
head = {G_Record *)malloc({sizeof{G_Record)= 18);
n_pphead = &head;
for{ index =0; index <18; index++)
{
head[index].index = index;
cout{{ "m_pphead" <<{ index, m pphead[B8][index].index;
name[B8] = 'B8'+index;
name[1] = HULL; i
StringCpy({head[index].name,name};
} -
[ | ;
i;i ﬁl’lamn Value
i [ head A: 00431830
i | m_pphead[ 8] Bz 00431830
. m_pphead[ 8][ 8] .name Axf043183e Q"
| m_pphead[ 8]->name Ax0043183e 0"
= head->name Bx00843183e 0"
head[ 8] .name BxBB843183e A"

' {*{head+@)).name

m_pphead[8][?] .name

Bx00843183e "@"

Ax804319ee

| | E (head+9)->name 0x00431%ee "9

!; head[9] .name 8:00431%ee "9V

’ _ (*(head+?)).name Bx004319ee O
1Y Y S S o ahemenn
Ready A
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2.8.2.3.2.52 5t record £H| AA G

7F. =713

Az 7) 38}

m_pphead = &head ;

L edd AAg

m_pphead[0][0] == *(*(m_pphead+0)+0)==*(m_pphead[0]+0) == *(m_pphead+0)[0]
head[0] == *(head+0) == head[0]°] 2}= G_Record T-Z A &] A Azt

m_pphead[0][1] == *(*(m_pphead+0)+1)==*(m_pphead[0]+1) == *(m_pphead-+0)[1]
head[1] == *(head+1) == head[1]°©] Z}+= G_Record T-ZA| 2] A A gk

m_pphead[0][2] == *(*(m_pphead+0)+2)==*(m_pphead[0]+2) == *(m_pphead-+0)[2]
head[2] == *(head+2) == head[2]®| 2}+= G_Record T-Z A 2] A A gk

m_pphead[0][9] == *(*(m_pphead+0)+9)==*(m_pphead[0]+9) == *(m_pphead+0)[9]
head[9] == *(head+9) == head[9]°] 2}+= G_Record T A &] 2 A gk

[ :+1,49,-1,-9 5] ov] (@ BF)

+n 2] 9] m_pphead[0], m_pphead[0][j]7} B3 & #kol FAFk(pointer) S AAgholvfol] uwhEt A E =
oju7} th=t}

=>m_pphead[0]+n == m_pphead[0]°] B A+ Z(==FT4F, pointer) + n*sizeof(G_Record)2] 2]1]|o]T},

S AA dFZE=Z25EH n WA record & 7HE] 7] EQIHE o] EdtetE 9w

=>m_pphead[0][j].index +n == m_phead[0][j].index 7} T3 A= #EE=A A +n S =l (:0~9)
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t}. Debugging 3}
- Name : pointer

- Value : pointer 7} 7}2] 713 Q)+=
#3> G Record 2] sizeof(G_Record)== 48bytes==

Index 3te] W3 &= EE}

.. CPointer - Mic

ual C++ [break] - [CPointer.cppl

0x30bytes ©]t} L2 Al Value 7} 0x30 2 5718t

JJ@ File Edit Miew Insert Project Debug Tools Window Help

ATt

_1ol x|

_1&] x|

|8 =@ » 2@ - - [ E2 5 WM_CANCELIOURNAL ~]| 4|

[Globals] ' I[AII global memhersL” fmain

_@"

CEOEEEE | B EG0|e|[F R E D BRE

{

name[ 8]
name[1]

NEN

head[index] .index
cout<< "m_pphead"

‘A +index;
NULL :
StringCpy(head[index].name ,name) ;

¢ [2-2]. G_RecordZ= 100{E T =St -
head = {6_Record =)malloc{sizeof{G_Record)*= 18);
mn_pphead = &head;

fFor{ index =08; index <18; index++}

index;
<< index, m_pphead[8][index].index;

L

lalx

Value

= m _pphead[@][ 8]

{---7

— index

-H number

8= 004317chy '

- name

8= 004317ce Q™"

“[F] next

Bxcdcdcdcd """

= m pphead[8][9]

{---1

— index

9

- number

880431974 ™

- name

0x0043197e 9™

[ next

Bxcdcdcdcd """

= ={m_pphead+8)+8

Bx804317cB

— index

- number

Bx8084317ch '

- name

8x004317ce Q™"

‘[ next

B8xcdcdcdcd "'

El «{m_pphead+8)+9

880431978

— index

9

- number

B 80431974 **

- name

0x0043197e 9™

“[H next

8xcdcdcdcd "'

El (*{m_pphead+8))[8]

{---1

— index

- number

Bx8084317ch '

- name

8x8084317ce "'9™

“[H next

8xcdcdcdcd "'

= (={m_pphead+8)3[?]

{---1

— index

o

- number

B 80431974 **

- mame

Bx8043197e O™

“[H next

8xcdcdcdcd "'

| T Watehi o Watehs et S Waiche 7

Heady

Ln 254, Col 33 |REC [COL [OVR [READ 4
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2} 5 U3 record 9] attribute A A gL(Eo] AALIIEERIHE £ =4

1. index o] 2 A%k

m_pphead[0]->index== m_pphead[0][0].index
== head ->index== head|0].index == (*(head+0)).index
= head[0]9] int index=0 = 7}2]7]= A A gk

m_pphead[0][1].index
== (head+1)->index== head[1].index == (*(head+1)).index
==head[1]9] intindex=1 S 7}¥] 7|+ Ak

m_pphead[0][9].index
== (head+9)->index== head|9].index == (*(head+9)).index
==head[9]2] intindex=9 & 7}€]7|+= 2 A gk

<71% G _Record 9] index 2} attribute & 2 Al gk>
vak] - [CHolnter.cpp

File Edit Wiew Insert Project Debug Tools Window Help

BEHO =@ - o | DEE GNpr

ég[eluhals] [=]| (&1l global members /=] & main il Y ED
/7 [2-2]. € _Record= 10015 & = o). Ej
head = (G _Record =)malloc(sizeof{G_Record)= 18);
m_pphead = &head;
for{ index =8; index <10; index++)
1
head[index].index = index;
cout<<{ “m_pphead” << index, m_pphead[8][index].index;
name[8] = "@'+index;
name[1] = HULL;
StringCpy{head[index].name ,name) ;
-
¥
o cout<<"end"; =
|« | 3
ﬂ ﬁﬂame Value
i head Bz 00431838
i m_pphead[ 8]->index 9x 00000000
I m_pphead[8][ 8] .index 8x 08000000
i head->index Bx00008000
head[ 8] .index 8x 00000800
(*(head+8))_index Bz 000000008
m_pphead[A][?] -index 8x 08000009 :
| {(head+9)->index Bz 000000089
' | head[?].index Bx 08000009
1l {x(head+9)).index 8x 00080009
1 A s " i .
{1l B N A A ) /
Ready L
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2. char name[30]2] A A3k

m_pphead[0]->name[0]== m_pphead[0][0].name[0]
== head ->name[0]== head|0].name[0] == (*(head+0)).name[0]
==head[0]2] name[0]=="0"S 7} 7] A A%k

m_pphead[0][1].name[0]
== (head+1)->name[0]== head[1].name[0] == (*(head+1)).name[0]
==head[1]9] name[0]=="1"< 7}&] 7]+ A A &k

m_pphead[0][9].name[0]
== (head+9)->name[0]== head[9].name[0] == (*(hecad+9)).name[0]
== head[9]2] name[0]=="9"% 7}&]7]& A A%k

m_pphead[0]->name[1]== m_pphead[0][0].name[1]
== head ->name[1]== head[0].name[1] == (*(head+0)).name[ 1]
==head[0]9] name[1]S 7}2]7]& A A%k

m_pphead[0][1].name[1]
== (head+1)->name[1]== head|1].name[1] == (*(head+1)).name[1]
==head[1]9] name[1]= 7}2]7]& A A%k

m_pphead[0][9].name[1]
== (head+9)->name[1]== head|9].name[1] == (*(head+9)).name[1]
==head[9]2] name[1]= 7}E]7]|&= A A%k

m_pphead[0]->name[30]== m_pphead[0][0].name[30]
== head ->name[30]== head[0].name[30] == (*(head+0)).name[30]
== head[0]2] name[0]= 7}E]7|& A A%k

m_pphead[0][1].name[30]
== (head+1)->name[30]== head[1].name[30] == (*(hecad+1)).name[30]
==head[1]2] name[30]S 7}&]7]= A A%

m_pphead[0][9].name[0]
== (head+9)->name[30]== head|9].name[30] == (*(head+9)).name[30]
==head[9]9] name[30]= 7}2]7]1& A A gk
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<19, G_Record 9] attribute char name[30]2] A A3t >

File Edit “iew Insert Project Debug Tools Window Help o 1|
=t | S DEE | N ¥ o BB
égiﬁ.';écsé::&éf;} :j [All global members :_H $main .

/7 [2-2]. G Record= 10J]5 C ==al)|. Ll , z]
head = (G_Record *)malloc{sizeof(G_Record)= 18);
m_pphead = &head;

for{ index =8; index {10; index++)

{
head[index].index = index;
cout<{{ "m_pphead” << index, m_pphead[@][index].index;

name[ 8] = '8'+index;

name[1] = HULL;
StringCpy({head[index].name,name);

H
o cout{<"end"; =
e | ijj

A | Name “U’alue

4 4
J “‘i head  0x06431830
WM n ppneadfo)->namers]  exso cor

n_pphead[ 8][ 8] .name[A]
_head->name[0]  8x30 '0°
head[ 8] .name[ @] Bx30 '@

(head+9)->name[0] 8x39 ‘9
head[?].name[ 8] 8239 '9°
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2.8.3.0{ X 3 - sizeof(G_Record *) : =24t 4bytes

typedef struct Record

{
char number[10];
char name[30];
char *next;

}G Record;

void main()

{
G_Record **m_pphead = NULL,;

char name[30];
int index =0;

//'[1]. Malloc m_pphead
m_pphead = (G_Record **)malloc(sizeof(G_Record*)*10);

for( index =0; index <10; index++)

{
m_pphead[index] = (G_Record *)malloc(sizeof(G_Record));
m_pphead[index]->index = index;

name[0] = '0'+index;
name[1] = NULL;
StringCpy(m_pphead[index]->name,name);

}

for( index =0; index <10; index++)
free(m_pphead[index]);
free(m_pphead);

- sizeof(G_Record *)2] 2] 7]
:“G_Record data type = 7}2] 7] =(Point 3}=) W G79] Alo] =

:pointer & HS ]2 Z 4bytes 2] pointer ©] T},

- Sizeof(G_Record)
G_Record o] Alo] =,
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2.8.3.1. two dimension array pointer 7|3}

| m_pphead = (G_Record **)malloc(sizeof(G_Record#)*10):
G_Record
**m_pphead;

abytes ® > 4bytes
pointer m_pphead[0] pointer
4bytes

m_pphead[1] | pointer

4bytes

m_pphead[2] | pointer

4bytes

m_pphead[3] |  pointer

4bytes

m_pphead[4] | pointer

4bytes

m_pphead[5] |  pointer

4bytes

m_pphead[6] | pointer

4bytes

m_pphead[7] |  pointer

4bytes

m_pphead[8] | pointer

4bytes

m_pphead[9] |  pointer

=>[m_pphead = (G_Record **) malloc(sizeof(G_Record *) * 10); Joll tf &+ A

- sizeof(G_Record *)i= G Record data type = 7}2]7]= ¥QIE 2] A 7] = 4bytes(pointer & F3271 4bytes)

- malloc(sizeof(G_Record *) * 10) : pointer 15~ 10 7l & array = & = 40bytes

- (G_Record **) malloc(sizeof(G_Record *) * 10) : 40bytes(pointer 10 7] 2] array)&d ¥ X2 7187 & T4
T3 20+ m pphead = (G_Record **) data type U= “cast AR’ 2 data type & WHIIA| AT

- cast A2} : data type = W3} AJZITH [AFEYH : (data_type) variable ]

Ex)inta;
char b =5;
a=(nt)b;/ora=b;b 7[HLYE IS int o2 W}
Char * p;
P = (char *)malloc( 100); / 100byte S+ HE-23-0] char data type
// char & data Array & 7}2] 7]+ pointer p

79



2.8.3.2.1 29 X2H z7|g&d|o|H z%7]|3%}

| m_pphead = (G_Record **)malloc(sizeof(G_Recordx)*10); |

| m_pphead[index] = (G_Record *)malloc(sizeof(G_Record)); |

m_pphead[0][0]

m_pphead[0][1]

m_pphead[0][2]

m_pphead[0][3]

m_pphead[0][4]

m_pphead[0][5]

m_pphead[0][6]

m_pphead[0][7]

m_pphead[0][8]

A 4 A 4 A 4 A 4 A 4 \ 4 \ 4

m_pphead[0][9]
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2.9.8t E2lE (Function Pointer)2} Macro function

void main()

{

//[3-1]. ER1E F
// ¢ function Pointer
m_pFunc = test;
m_pFunc(Test->a);

// [3-2]. C++ Function Pointer
Test->FuncPoint(Test->a);

//[3-2]. macro  $F5~
macro_func(Test->a);Void test(char *p);
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2.9.1 &= Z2lE{(Function Pointer)
2.9.1.1.C++ FuncPoint()

class WSS S5 EQIHE W7 XA Hojds A Aok

void Pointer::FuncPoint()

{
// [1]. class member 7+ $F= EQIE <HE
// pFunc = funcl;
// [2].class member & ¢ 5 XEQJQE=Z Ed 4.
// pFuncl = funcl;
}

2.9.1.2.C ¥

2.9.1.2.1.04 A 1

int (*m_pFunc)(char *p);

int test(char *p)

{
cout << "function pointer test :" << p <<"\n";
return 0;

}

void main()

{
Pointer *Test = new Pointer("Test");
/3-1]. 29H =
m_pFunc = test;
m_pFunc(Test->a);

i
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m_pFunc

Void test(char *p)&4

2.9.1.2.1.00H 2(Q8A 0| 2= ofF|)
Bubble sort & ©]-83}4] ascending/descending
29.1.21.1.4%

ol Ao au e

#include<stdio.h>
#define SIZE 10

void swap(int *, int *);

void bubble (int *, const int, int (*compare) (const int,const int));
int ascending(const int, const int);

int descending(const int, const int);

main()

{
int a[SIZE]={2, 6, 4, 8, 10, 89, 68, 45,37,99};
int counter;

bubble(a, SIZE, ascending);
printf("n QL ExF= o2 AHE dolHn");

for(counter=0; counter<=SIZE-1;counter++)
printf("\n%4d", a[counter]);

bubble(a, SIZE, descending);
printf("n WH X0 2 AHEH do]lH \n");

for(counter=0; counter<=SIZE-1;counter++)
printf("\n%4d", a[counter]);
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printf("\ntest");

return O;

}

void bubble(int *work, const int size, int(*compare)(int, int))

{

int pass, count;

for(pass=0;pass<size-1;pass++) // 7] %=
for(count=0; count<size-1; count++) / 7] %=

/| 271 M2 ascending & descending
if(compare(work|count], work[count+1]))
swap(&work[count], &work[count+1]);

}

void swap(int *elementlptr, int *element2ptr)

{
int temp;
temp="*element1ptr;
*element]ptr=*element2ptr;
*element2ptr=temp;

// ascending( 25 2F<) : 1,2,3,4,56
int ascending(const int a, const int b)
{

}

// descending(W] & 2}<) : 56,4,3,2,1
int descending(const int a, const int b)
{

}

return a>b; // 7]

return b>a; // ©17]
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2.9.1.2.1.2. bubble(a, SIZE, ascending); A

.27 52
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2. state:

22 Polq BAEA =

pass count work[count] | work[count+1] | compare(work[count], swap(&work[count], &work[count+1])
work[count+17)
0 0 2 6 ascending(2,6); int a[10
O(FALSE) 216 (4|8 |1 (8 |6 |4 |3 |9
0 |9 [8 |5 1719
=>
216 (4|81 [8 (6 |4 |3 ]9
0 |9 [8 |5 1719
X)
1 6 4 ascending(6,4); Int a[10]2 2}
1(TRUE) 216 (481 [8 |6 |4 |3 |9
0 |9 [8 |5 1719
=>
21416 |8 |1 (8 |6 |4 |3 |9
0 |9 [8 |5 1719
X)
2 6 8 ascending(6,8); int a[10
O(FALSE) 21416 8|1 (8 |6 |4 |3 |9
0 |9 [8 |5 1719
=>
21416 8|1 [8 |6 |4 |3 ]9
0 |9 [8 |5 1719
X)
3 8 10 ascending(8,10); int a[10
O0(FALSE) 214 (6|81 |8 |6 [4 |3 |9
0 |9 |8 |5 1719
=>
214 (6|81 |8 |6 [4 |3 |9
9 |8 |5 1719
X)
4 10 89 ascending(10,89); inta[10
O(FALSE) 2 (46|81 [8 (6 |4 |3 ]9
0 |9 [8 |5 1|7 19
=>
2 (46|81 (8 |6 |4 |3 |9
0 |9 [8 |5 1719
X)
5 89 68 ascending(89,68); inta[10
1(TRUE) 2 (41681 (8 |6 |4 |3 |9
0 |9 [8 |5 1719
=>
2 (46|81 (6 [8 |4 |3 |9
0 [8 [9 |5 1719
X)
6 89 45 ascending(89,45); int a[10
1(TRUE) 2 (46|81 (6 [8 |4 (3 |9
0 |8 [9 |5 1719
=>
2 (46|81 (6 [4 (8 |3 ]9
0 [8 [519 1719
X)
7 89 37 ascending(89,37); int a[10
1(TRUE) 21416 (8|1 |6 |4 |8 |3 |9

=>

24681 6 [4 [3 [8 [9 ]
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X)
8 89 99 ascending(89,99); inta[10

O(FALSE) 2 |4 1 8 |9
0 9 19

=
2 |4 1 8 |9
0 9 19

X)

<pass=0, count =5 ¢ | swap “L¥ 7} Temp= *elementlptr>

Element1ptr Element2ptr
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<pass=0, count =5 A W] swap 1% . *elementlptr=*element2ptr;>

Elementiptr

Element2ptr

<pass=0, count =5 A ] swap “1¥H U} *element2ptr=temp;>

Element1ptr

Element2ptr
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2.9.2. Macro function

2.9.2.1.94 1:

//15-2].C ZFelell A g4 ERIE AME 7he
int test(char *p)

cout << "function pointer test :" << p <<"\n";
return 0;

}

#define macro_func test

void main()

{
//[3-2]. macro &<
macro_func(Test->a);

macro_func

Void test(char *p)&t4
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2.9.2.2.Macro Function | A 2:#F 2 ¥ 7= 7](Define T4 71%)

#include <stdio.h>
#include <string.h>

//'[1]. How to Printf, Using Macro Function
I EDE 715 E s 3E [ TRACEOEF
#define TEST 3
#ifdef TEST 1
#define Trace(fmt,args) \
{\
int argp[] = { args }; \
char temp[500]; \
sprintf(temp,fmt, argp);\
printf(temp);\
b

#elif TEST 2
#define Trace(fmt,args)\

{\
char temp[500]; \
sprintf(temp,fmt, args);\
printf(temp);\

}

#endif

#ifdef TEST 3
#define Trace(fmt,args)\

{\

printf(fmt, args);\
}
#endif

// [2]. Printf Parameter
/************************************************
#Parameter means

MakeString(NO_Quatation) == “NO_Quatation”
*************************************************/
#define MakeString(Parameter)  (#Parameter)

#define PrintString(Parameter) printf(#Parameter "\n")

st st kst ks ks ks ok ok ok ok ok ok ok stk kol ko ol ok ok ok ok ok ok

#Parameter means

Copy_String(“NO_Quatatioin”) == “NO_Quatation”
*************************************************/
// MakeString == Copy_String

#define Copy_String(Parameter) (##Parameter)

#define Print_String(Parameter) printf(##Parameter "\n")

/I [3]. Make Character
/********************************************
causes the statement

a = makechar(b);

to be expanded to

a= 'b';
********************************************/
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#define makechar(x) #@x

void main()

{

char stemp[500];
char test;

//'[2-1]. Test 1
strepy(stemp, "test");

Trace("%s\n",stemp);

//[2-2]. Test 2

strepy(stemp, MakeString(NO_Quatation));
Trace("%s\n",stemp);
PrintString(NO_Quatation);

//'12-3].

strepy(stemp, Copy_String("No_Quatation"));
Trace("%s\n",stemp);

PrintString(NO_Quatation);

test = makechar(t); // test ="'

}

=239 A3}

HE D3 VCPROGRAMM A E 212 -TESTI-MNW TraceWDebug Trace

est

0_Quatation

0_Quatation

o_Quatation
ndM0_GQuatation

ress any key to continue
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2.9.3. String Parsing(C &= 2/E{2} Macro Function 0| &)
ek A

e |
Maco Function(F] L A] 3| AL T Hth 3 pointer ©]-& 3%+ Function & =}o]H

29.31.452

#define MAIN1 // test1()2 3}2]H MAINI, test2()S &2 H MAIN2
//TI.INCLUDE
#include <stdio.h>

//[2.DEFINE CONST
#define MAX_LINE LENGTH 256

//[3.MACRO FUNCTION
/I [3-1]. Is a value type(digit/hexa/EOL)?

J e e L e e LS e LT

L c WG x 9] gho] AR olghH|o} 5220 - 1921 712

7%
2. 283 dolek
3. o3l g4 .
4. input
Dx: A
5. output

1) 1: opgulol 54
2)0: okehulo} A7} obH S
6. algorithm
7. Module Test Example
*******************************************************/
#define IS_DIGIT(xX)((x>='0")&&(x<="9"))
#define IS HEXA(x) (((x>='0")&&(x<='9"))[|((x>="a")&&(x<="1"))||((x>="'A")& & (x<=F")))
#define IS_ALPHA(X) (((x>="2")&&(x<="2"))||(x>='A&&(x<="Z")))
#define IS CHAR IS ALPHA

sk sk ko sk ks ks ok ok ok ok ok ok ok kol kol ok kol ol ok ok ok kol ko koo ok
s W49l T Zko] EOL(end of Line: "\n', "M'== 13, NULL=="0'==0)%17}?
o] e}

=]. A~
Sk

_
)

ko fo of
o rsL

2.
3.
4. input
Dx: Ak
5. output
1) 1: End of Line
2)0:
6. algorithm

L

7. Module Test Example

skl ok ok sk ook Rk ok ol ok ok ok ok ok kol ko bRk ok ol ol ok ok ok ok ok ok ok Rk /

#define IS EOL(c,d) (c=="n'|c==0 || (c==13 && d=="\n"))

/*is Null ?2 0 =="0" */
#define IS NULL(c) (c==0)

//'[3-2]. Get Line(string)
/*******************************************************

1. 715 : AL (file)=F-H g+ 2fle] Z7]ef 2}l EAES A=t
o)kl o] & 2}(delimeter) \n', NULL, "M'== 13

2. o] g}

3. Z I

(o]
i
i<l

i) mﬂ
ot ot

sie/gn)
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4. input
1)line :source(hay stack)oll A =& 2713t line &
2) line_length : line length(t$] byte)

=) line[*index]
3) source : hay_stack(Z1 2T "], ol g g}lo] &0l 5)wAE S 72l 7]+ pointer
4) source_length :source 2] TAFE A 7](H$H] byte)

2}

o

2

ok
o

5. output
6. algorithm
7. Module Test Example

*******************************************************/

void GET_LINE(char *line,int *line_length,char *source,int source length)

{
int j=0;
*line_length=0;
// EOL = A7} o}y 3l && source length ©] 3t -5t line o #AHE A
while( !IS_EOL(source[*line length],source[(*line length)+1])
&&(*line length < source length)&&( (*line length) < MAX LINE LENGTH))
{

}

line[j]=0; // FAE Eo NULL & 4F¢)3hd).

line[j++] = source[(*line_length)++];

VA S
if(source[*line_length]=="\n") //"™\n"
(*line_length)++;
else
(*line_length)+=2; // ""M\n"
}

//'[3-3]. Parsing

//[3-3-1].

// is a skip character?

#define IS_SKIP(x) (x==""|[x=="t')

#define IS DELI(x) (x=="1jx==""jx==""x=="[x=="3|jx=="="[x=="(|lx==")]| x=="¢t" )

//'[3-3-2]. Get a Digit Token from a Line(string)

AR sk ks ks sk sk Rk koo sk sk R sk Rk Rk ks sk sk ko o

1. 715 :line o] 2= AL oA Delimeter(AH2] 2] EAH)E FEAZ Fo] "sa} EE"
) space 9} t==tab TA= ET O HAGsH] L=

) #Ade 549H0 tUAEA ks A% 2 e

2. Q3 dolek
3. 38% 3 .
1)IS_SKIP()
2)1S_DIGIT()
4. input
D line : =AE A2 XE<21E(hay_stack)
2) offset : i AFE A]ZF EZQIE 9] ofdlo] dH .ex) line[0]..... line[index]
3) token : 713t token( a needle)
4) token_length : token ¢ Z ©] ( needle Size)
5. output
SUCCESS : get a digit token
FAILURE : don't get....
1) offset :
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-line ©] of ool A WA EZ] Fxpdo] 3 v 1 vl EE 7t
EA Y 28 ES(needle)S = 9F
ex) line="hey a babo"=>token="hey", index ="hey"TF=2] "space ‘A" ¥ X|(h 7} ojHe|HE= 0 o]eH
index #k< 3)
6. algorithm

7. Module Test Example
sk sk KRR KRR R RS R SR SR SR SRR R R KRRk Rk ok

#define TRUE 1

#define FALSE 0

#define SUCCESS TRUE

#define FAILURE -1

int GET_DIGIT(char *line,int *offset,char *token,int token_len)
{

token len=0;

// [2-1]. space, "\t &2 skip
for( ; IS_SKIP(line[ *offset]) ; (*offset)++)

>

//'[2-2]. get digit value from [char* input]

// delimiter = o}g}H]o} =4},

forGGIS_DIGIT(line[*offset]);(*offset)++)
token[token_len++]=line[*offset];

token[token_len] = NULL; /<t A} ¥ NULL

/112-3].
if( token_len == 0)
return FAILURE;
else
return SUCCESS;

}

//'[3-3-3]. Get a Token( all type) from a line(string)

et s e ks e e o ek oo s s ks sk s sk s sk koo
Get Token

1. 71 :line o]&h= Ao A Delimeter & THAZ 3t EES A= &4
o) space 9F t==tab A= ETOo R HA}A I

2. 493 dolek

3. 28% &4

1)1S_DELI()

2)1S_EOL()

4. input

1) line : \=AFE A2 ZAE.

2) offset: token & A& A AlAF EZLJE Q] of#o] WM ex) line[0]..... line[offset]
3) token : 713}t token

4) token_length : token 2] Z o],

i

5. output
1) offset : line 2] ofgolofl A ¥AS EFo] FxGo] Wk thg | Hlo|EE 7|t
- 24 N2 EE(meedle)S = A
ex) line="hey a babo"=>token = "hey", index ="hey"t} "space = A" % X|(h 7}
ojglo]HE R 0o]ehd index FS 3)
6. algorithm

7. Module Test Example

*******************************************************/

void GET _TOKEN(char *line,int* offset,char *token,int *token length)
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}

*token_length=0;

// [2-1]. space L} tab 7]i=  skip 3T}
for(; IS_SKIP(line[*offset]) ;(*offset)++)

>

// [2-2].Get Token while a character is not delimiter.
do

{

token[(*token_length)++]=line[(*offset)++];

if(IS_DELI(token[(*token_length)-1]))
break;

twhile('IS_DELI(line[ *offset])&&!1S_EOL(line[*offset],line[(*offset)+1]));

// [2-3]. token ol NULL A} 2
token[*token length]=0;

/I Define_Get Token
#define D_GET_TOKEN(line,offset,token,token_length)\

0\

}

token_length=0;\
for(GIS_SKIP(line[offset]);(offset)++)\

)\
do{\

token[token_length++]=line[(offset)++];\

if(IS_DELI(token[token length-1]))\

break;\

twhile('IS_DELI(line[offset])&&!IS_EOL(line[offset],line[(offset)+1]));\
token[token_length]=0;\

// [3-3-4]. Is a token a digit token(7*) or a variable/function?

1

token 2] F{?

#define DIGIT_STRING TRUE
#define NO_DIGIT_STRING -1

/*******************************************************

1.
2.
3.

71 s vk W /7R
dad dojek

Zo3k g

1) IS_DIGIT()

4. input
1) token : 713 token

5. output

- DIGIT_STRING : &A= RF -4 = o] lth
-NO_DIGIT_STRING

6. algorithm

7. Module Test Example

*******************************************************/

int IS_DIGIT_STRING(char *token)

{

//'[1]. Data
int token length;

95




int loop;

/2]
/1 [2-1].
token_length = strlen(token);

for(loop =0; loop< token_length ;loop++)
{
if('IS_DIGIT( token[loop]))
return NO_DIGIT_STRING;

}

return DIGIT STRING;
H

/*******************************************************

1. 71 & :Hexa or Decimal Digit?
2. Q83 Holek
3. 483k 3
1) IS_HEXA()
4. input
1) token : 713 token

5. output
-HEXA_DIGIT_STRING :5zAFZ%F A 5o} gt}
-NO_HEXA DIGIT STRING

6. algorithm

7. Module Test Example
ex) token = "0x1234" or "0X1234"
*******************************************************/
#define HEXA_DIGIT_STRING TRUE
#define NO_HEXA_DIGIT_STRING -1
int IS HEXA_STRING(char *token)
{
//'[1]. Data
int token_length;
int loop;

/2]
token_length = strlen(token);

// [2-1]. token[0]="0" token[1] = 'x'?
if( token[0] !="0"|| (token[1] !="x' && token[1] !="X") )
return NO_HEXA DIGIT_STRING;

//'[2-2]. token [2, ....] is digits?
for(loop =2; loop< token_length ;loop++)

if('!IS_ HEXA( token[loop]))
return NO_HEXA DIGIT STRING;

}

return HEXA_DIGIT_STRING;

#ifdef MAIN
void main()
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#else
void test()
#endif
{
// [1]. Data
int index =0;
int num_of token =0;
char token[50];
int token length =0;

char messagelMAX LINE LENGTH] = "0x1234 int\tCString::GetString(char a)";

// [2-1]. line ¥+ 344,
while(message[index] != NULL)

{
//12-1-1]. line Hol X BEZS H=
GET_TOKEN(message,&index,token,&token_length);
printf("\nnum[%d] : token[%s]is a %s, message[index(%d)] token_length(%d)\n",
num_of token++,token, IS HEXA STRING(token)==HEXA DIGIT _STRING?"hexa":"no"
index,token_length);
}
j
#ifdef MAIN2
void main()
#else
void test2()
#endif
{
//'[1]. Data
int temp =0;
int index =0;
char token[50];
int token length =0;
char message[MAX_ LINE LENGTH] = "int\tCString::GetString(char a)";
//[2-1]. line ¥+ 34,
while(message[index] !=NULL)
{
D _GET_TOKEN(message,index,token,token_length);
printf("\ntoken(%s) index(%d) token length(%d)\n",token, index, token length);
}
}
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2.9.3.2.4 3343
7}, test1()2 & A 1}

-0 %1 string : "0x1234 int\tCString::GetString(char a)"

num[0] : token[0x1234]is a hexa, message[index(6)] token length(6)
num([1] : token[int]is a no, message[index(10)] token_length(3)
num[2] : token[CString]is a no, message[index(18)] token_ length(7)
num([3] : token][:]is a no, message[index(19)] token length(1)
num[4] : token[:]is a no, message[index(20)] token_length(1)
num([5] : token[GetString]is a no, message[index(29)] token_length(9)
num[6] : token[(]is a no, message[index(30)] token length(1)
num(7] : token[char]is a no, message[index(34)] token length(4)
num[8] : token[a]is a no, message[index(36)] token length(1)
num[9] : token[]]is a no, message[index(37)] token length(1)

Press any key to continue

L}, test2() 2 ) A 7}
-0 %1 string : = "int\tCString::GetString(char a)";

token(int) index(3) token length(3)
token(CString) index(11) token_length(7)
token(:) index(12) token length(1)

token(:) index(13) token length(1)
token(GetString) index(22) token_length(9)
token(() index(23) token length(1)
token(char) index(27) token_length(4)
token(a) index(29) token length(1)

token()) index(30) token length(1)

Press any key to continue
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2.9.4. MFC DLL Function S & (Function Pointer)
F5 oA Bolguh
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3.String Al¥ &+ EMLIHFII
3.1. StrLen(), strlen()

3.1.1.8 9

&

int StrLen(const char *src); 1.7]1% : NULL==0==“0"2A2 vd w7}x<¢ Exde aA7|&

Tkt
2.8 8 dol g
3.99% 3.
4. parameter
1) const char *src : ‘=AE-& 7}2]7]+= pointer
S. return:
FA4 9] 37]E return 3HUY

6. algorithm
7.3
Fast Strlen()™2] : 4 v}-o] E 0x00ffffff, 0xffOOfFf, OxFffOOfE, OxFFff00
MERAIE ol gah: WA Pnant fusdAE HAT ARS
M= A o] =8 A ?_PEJE‘r.

3.1.2.484

int StrLen(const char *src)

{

// [1]. Data
int size =-1 ;

//'[2]. Algorithm
//12-1].
while(src[++size] I=NULL)

>

/1 [2-2]. return size
return size;
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3.1.3. Analysis

void main()

{
char temp_4[100]="abc";
StrLen(temp_4);
}
Main()
+00rsizeoftchar)
Char temp_4[100];
a b c |Wo
Size=3
e=2
SizeAT
Size///
Strien()
const char *src;
2o Aol PHEA =
src size Src[++size] while(src[++size] =NULL
)
13 ==temp 4 == &temp 4[0] -1 Src[0] == ‘a while(src[0] !=NULL)
2 3] == &temp 4[1] 0 Src[1]==‘b’ while(src[1] I=NULL)
3 3 == &temp 4[2] 1 Src[2]== ‘¢ while(src[2] I=NULL)
4 3] == &temp 4[3] 2 Src[3] == \0’ while(src[3] '=NULL)
. =LA, =
3.2. StrCpy(), strcpy() — 2.6.1.StringCpy() &+ &=
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3.3. StrCmp(), strcmp()

3.3.1.4 9

52~
ax

int StrCmp
(const char *pl, const char

*p2)

1. 7] : Compare S1 and S2, returning less than, equal to or
greater than zero if S1 is lexicographically less than,
equal to or greater than S2.
g2 ol
a% I
4. Parameter :
5. Output :

&= :string p1 >  string p2

0 :string pl == string p2

S :string pl < string p2

6. algorithm

W

733 A (AR A) o2 Haste dadE
3.3.2.8A
int StrCmp (const char *p1, const char *p2)
{

register const unsigned char *s1 = (const unsigned char *) pl;
register const unsigned char *s2 = (const unsigned char *) p2;

unsigned char cl, c2;

do
{

cl = (unsigned char) *s1++;
c2 = (unsigned char) *s2++;

if (c1 =="0")
return cl - ¢2;
} while (cl == c2);

return cl - ¢2;
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3.3.3.Analysis

void main()

{

char temp 1[100]="1234";

char temp_2[100]="12345";

StrCmp(temp_1,temp_2);

}

3.3.3.1.Main()°| A StrCmp(temp_1, temp_2)°] Parameter &= =

DDOOZEEE poonosE

3.3.3.2.Main()°ll 4] StrCmp(temp_1, temp_2)2 3 24 3} 2=}
3.3.3.2.1.TRACE 2}

<oFoi>

- UCHAR : unsigned char

-TRUE :1
-FALSE : 0
22 oA BAEA =
do{
3] | sl s2 cl= c2= if (c1=="0") |} return c1-c2;
T (UCHAR) (UCHAR) *s2++; while(c1== ¢c2);
*g1++;
1 | &temp 3[0] | &temp 4[0 | C1="‘1" C2=°1 FALSE TRUE
]
2 &temp 3[1] | &temp 4[1 | C1="°2" C2="2 FALSE TRUE
]
3 &temp 3[2] | &temp 4[2 | C1 =3 c2="% FALSE TRUE
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Ready

104

]
4 | &temp 3[3] | &temp 4[3 | C1="‘4’ C2="4 FALSE TRUE
]
5 | &temp 3[4] | &temp 4[4 | C1 =0’ Cc2="5 TRUE FALSE 53 =
] (59 &)
3.3.3.2.2. Debuging o+& o} A% 2 1}
EHE  mRo-2r DEE Hfsen ] n
ESETEAR SRS (R =
5 (Globals) ~][(A1 global members =][ ¢ StrCmp A
EEEne
int StrCmp {const char =p1, const char =p2) :;
{
register const unsigned char *s1 = (const unsigned char *) pi;
register const unsigned char *s2 = (const unsigned char *) p2;
unsigned char ci1, c2;
do
{
c1 = {unsigned char) =s51++;
c?2 = {unsigned char) =52++;
if (c1 == 'we')
return c1 - c2;
Y} while (c1 == c2);
return c1 - c2;
5}
[+ .'I—‘
if antext:!StrCmp[cunst char®, cuj i‘-i Name Value I:..
1IN 1l azam12fF1c 1234 L2
ame Value I - - .
1 a0 BxB012feb8 12345
s cq g axa@12f£21
il 0x0012febd
| g
53 ‘%’
-53
A+ [\ Auto f Locals  this / A2 I Watchl [ WatchZ & Waich3 & Watchﬂ 7




e o[l | | o ol
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3.3. StrCat()
3.3.1.8 29|

52~
ax

char *StrCat 1.71% : NULL==0=“\0"%2}= w}7] HA7}IA src =A LS Dest
(char *dest, const char *src) T2t Eol append(o] o)A Eo] ),
2.2 2 vlo] g}

3.498% 3.
1)StrLen()

2)StrCpy()
4. parameter

1) char *dest : append 2 -
2) const char *src :

5. return:
Append & WHE X TAE S 7] 7] dest @] TA%kS return ST}

6. algorithm

Y

al

7.

332484

/*******************************************************

1. 715 : Append SRC on the end of DEST.
2. Q3 dolek

3. 483 g

4. Parameter :

5. Output :

*******************************************************/
char *StrCat (char *dest, const char *src)

{
// [1]. Data

int dest_size;
int src_size;
char* destiny_copy;

/12].
//'[2-1]. How to make Case 1
#f 0/ #f0 3 #else AFO) ] AAE Ao SrET)

//'[2-1-1]. Calculates Sizes of dest String.
dest_size = StrLen(dest);

// [2-1-2]. append == StrCpy()¢} &Lt FH.
while(*src = NULL)
{

dest[dest_sizet+] = *srct++;

}

dest[dest size] = NULL;
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#else

//'[2-2]. How to make Case 2

// [2-2-1]. Calculates Sizes of dest String and src String.

dest_size = StrLen(dest);
src_size = StrLen(src);

// [2-2-2]. append with using strcpy();
destiny copy = dest;
destiny _copy += dest_size;

StrCpy(destiny_copy, src); / or memepy(destiny, src,src_size+1);

#endif

return dest;

3.3.3.Analysis

void main()

{
char temp_3[100]="123";

char temp_4[100]="abc";

StrCat(temp 3,temp_4);
}

3.3.3.1. 1¥ 3.3.3.7} StrCat(temp_3, temp_4); 39 =7|3s}HA

Main()
100#sizeof(char) | 1Qossizeof(char) |
Char temp_3[100]; Char temp_4[100]:
1 2 3 |‘WO’ a b o |lwo
StrCatl()
const char *dest; const char *src;
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3.3.3.2. StrCat(temp_3, temp_4); 3 ¢] StrCpy(destiny_copy,src)4l 3 A

DODEEEEE ppnz=En

< 1% 333.44>

3.3.3.3. StrCat(temp_3, temp_4); 35~ 2] StrCpy(destiny_copy,src) Parameter ¥=5F%
2.6.1.8tCpy() 5 = Al 8.

DDOCEEEE poBCEE

<71¥ 333.t>
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3.3.3.4.StrCpy 3549 += Fd

1) StrCpy(O Wl 9] ¥ trace
<t JF oFo] Hx>
- dest ¢} source : StrCpy()H -1 =

- destiny copy ¢} src : StrCat()U] - = Yt}
- Cat_dest : StrCat()U] - 5= const char *dest 2] LT} o] F(alias)d U T}
- BF@elA i 2. vlE S o] 839 Rl A ARE-¥ Local variable int i ©] o>

2o AolN BAEA =

3] | Dest Source while((*dest = *source) !="0") dest ++ source++
() R A
1(0) | &destiny copy[0]==&Cat_dest[3]; &src[0] | while((destiny _copy[0] = source[0])!="\0") &destiny_copy[1] | &src[l]
2(1) | &destiny_copy[l]==&Cat_dest[4]; &src[1] | while((destiny_copy [1] = source[1])!="\0") &destiny_copy[2] | &src[2]
3(2) | &destiny copy[2]==&Cat_dest[5]; &src[2] | while((destiny_copy [2] = source[2])!="\0") &destiny copy[3] | &src[3]
= [6] [

4(3) | &destiny copy[3]==&Cat dest

)

3] | while((destiny copy [3] = source[3])!="\0")

2) while((*dest = *source) !="0")2] 27

22 oA EHEM =
3] (1) *source 2] WEE Zt | (*dest = *source)
1(0) source[0]=="a’ destiny copy [0]=source[0]=="a’
2(1) source[1]=="b’ destiny_copy [1]=source[1]=="b’
3(2) source[2]=="¢’ destiny_copy [2]=source[2]=="¢’
4(3) source[3]==NULL=="\0" | destiny copy [3]=source[3]==NULL=="\0’

3) StrCat(temp_3, temp_4);3F7 2] StrCpy(destiny copy,src)2 2§ 5

2.6.1.8tuCpy() 5 = Al 8.

DDODOBTE poBCEE

<19 3.33.8>
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SLA A= o
3.4.strtok(2.9.2.2.2| GetToken()&r=2} H| 8t YHH S ALE)
3.5.StrChr()
3.5.1.3 2]

&
char *StrChr 1.7]°5 : phaystack 9] AL A pneedle AL} A8 EA7F
(const char *m_haystack, A Zsl= ZQ1E]E return 3FU}
const char m_needle) 2.9 g d)o] e}
.99 3.
4. parameter
1) const char *o_haystack : Original Haystack
2) const char o_needle  : Original needle
5. return:
Haystack(71 2 7))ol 4] m_needle(H}=)o] WA H 3o
Pointer & return 3+t
6. algorithm
program &| 7]£-9| == Linear Search
7.3
HayStack (AZ T 1) A a Needle(H}I )2 7| 2213
3.5.2.484A
char *StrChr(const char *o_haystack, const char o_needle)
{
// [1]. Data

register const char *copy_haystack;

/112].

//[2-1]. check Error

if( o_haystack == NULL || o _needle == NULL
|| *o_haystack == NULL )
return NULL;

// [2-2]. Linear Search
copy_haystack = o_haystack;
while(*copy haystack++ != 0 needle)

>

return --copy_haystack;
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3.5.3.Analysis

271 1H
-5 719, Trace
-FHEFaY

void main()

{
char temp_5[100]="12asaz";

char temp 7[100]="";
char *point;

/1]
point =StrChr(temp 5, 'a');

/1'12].
point =StrChr(point+1, 'a');

/1 [3]. error test
point =StrChr(temp_7, "");

3.5.3.1. point =StrChr(temp_5, 'a"); %4
3.5.3.1.1.8trChr()2| =7| Parameter 'g 7| &}

R0 B 1 S
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3.5.3.1.2.8trChr()& Trace St4&}
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C++ [break] - [n_sting,c]

i'. File Edit iew Insert F‘rnject Debug Tools Window Help -iﬁ’i_?fj

B EEHE 2B D DT | GTstrehr || HEE > @D

|| (Globals) _v_;|[m| global members x|| ¢ StrChr A~ "$ b o E;}l s"i'lj
char =StrChr{const char =0_haystack, const char o_needle) E
{

/f [1]- Data
register const char =copy_haystack;

Ho[2].-

ff[2-1]. check Error

if{ o_haystack == HULL || o_needle == HULL
|| *0_haystack == HULL }
return HULL;

¢ [2-2]. Linear Search il
copy_haystack = o_haystack;
while{*copy_haystack++ = o_needle)

return --copy_haystack;

ﬂ Name Value Lt_.
. o_needle 97 'a’ L

8x0812FF1c "12asaz" )
Bx8812fFf1e "asaz"

" 1iP§\Watchl A Watehe WatchS §_Waichd 7

Ready

1. StrChr() Trace g+ U]-&
22 oA FAHEA =

'T_‘—'L

314= | copy haystack | while(*copy_haystack++ !=o0_needle) | copy haystack ¥ 3} | return
--copy haystack;
1 &temp 5[0] While(temp 5[0] !=‘a’) TRUE &temp 5[1]
2 &temp 5[1] While(temp 5[1]!=‘a’) TRUE &temp 5[2]
3 &temp 5[2] While(temp 5[2]!=‘a’) FALSE &temp 5[3] &temp 5[2]

2. while(*copy haystack++ !=0_needle)7- ] ] &4
2 oA FAEA =

814~ | copy haystack | while(*copy haystack++ != 0_needle)
*copy_haystack++ == | *copy_haystack++ != 0 _needle
*( copy_haystack++)

1 &temp 5[0] Temp 5[0]=="1" temp 5[0]!=°‘a’ TRUE

2 &temp 5[1] Temp 5[1]=="°2" temp 5[1]!=‘a> TRUE

3 &temp 5[2] Temp 5[2]=="‘a’ temp 5[2]!=‘a’ FALSE
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3.6.strstr()

3.6.1.5 2
a
char *StrStr 1.71%5 : phaystack o] TAFL A pneedle o] TAL I} F U3
(const char *phaystack, Ead 2 A ZEE EZ OB S return 3HUF
const char *pneedle) 2.2 Q"o e
3.498% 3.
StrChr();
4. parameter
1) const char *phaystack : Original Haystack
2) const char pneedle  : Original needle
5. return:
Haystack(Z 2 1Yol A m_needle(H}=)°] 2% 312] Pointer &
return $+C}
6. algorithm
haystack 9| 4] Linear A X|3}t}7} E8]H, £ & $X oA needle &
oAl M A E o
733
HayStack (AZ T 1) A a Needle(HI=)27| 2213
3.6.2. A
char *StrStr (const char *phaystack, const char *pneedle)
{
//'[1]. Data
// haystack data

register const unsigned char *n_haystack; // new haystack
unsigned char *d_haystack ; / Digup haystacks

// needle data

register const unsigned char *s_needle; // start_position of needle

unsigned char *d_needle, *e needle; // Dig up haystacks, end position of needle
int pneedle_size = StrLen(pneedle); // needle size

// initiate data

n_haystack =d_haystack = (const unsigned char *) phaystack;
s needle =d needle = (const unsigned char *) pneedle;

e needle =s_needle + pneedle size-1;

/112].

//'[2-1]. Check Error

if(phaystack == NULL || pneedle == NULL
|| *phaystack == NULL || *pneedle == NULL )
return NULL;

// [2-2].match *d_needle(== d_needle[0]) with phaystack ?
if( (n_haystack = d_haystack = StrChr(d haystack, *s needle)) == NULL )
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return NULL;

//'[2-3].
while(*d_haystack !=NULL)
{
//'[2-3-1]. The Work digging up haystack
while(++d_needle <= ¢ needle && ++d_haystack != NULL)
{
// if not find
if(*d_haystack !=*d_needle )

d_needle =s_needle;
break; // Exit of [2-3-1]. while()

}

//'[2-3-2]. if find a needle
if(--d_needle == e needle && *d haystack == *e needle )
return (d_haystack -(pneedle size-1));

//'[2-3-3]. Fail to find a needle & Find a needle from new haystack
else

{

d needle =s_needle;
// match *s_needle ?

if( (n_haystack = d_haystack = StrChr(d_haystack, *s_needle)) == NULL )
return NULL;

}

return NULL;

115




3.6.3.Analysis

void main()

{
char temp_5[100]="12abc]abca";
char temp_6[100]="abc";
char *point;
point =StrStr(temp_5,temp_6);
point =StrStr(point+1,temp_6);

!

3.6.3.1.StrStr(temp_5, temp_6)2] Parameter 'd7]= %7|3}4

StrStr();oll A1 [2-1]. Check Error 7}#] 238 =<5

DEEERARANNET DEETE
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3.6.3.2.1. StrStr(temp_5, temp_6)2 Trace & Debugging 3}

3.6.3.2.1.1.StrChr(d_haystack, *s_needle)

5] 2~
3

d_haystack

*s needle

n_haystack = d_haystack = StrChr(d_haystack, *s_needle)

1

&temp_ 5[0
1

[P}

a

n_haystack =d_haystack = &temp_5[2]
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3.6.3.2.1.2.2. StrStr() Trace Routine 233} Debug Routine




3.6.3.2. point =StrStr(point+1,temp_6);

Eile Edit Miew |nsent Project Debug Tools MWindow Help

2 Iﬁ,"‘ﬂﬁ”{; ﬁi:ﬂf* :':fﬁVEEE%‘i@tiTstmhr

Eglelohals] [z]{an global members|=|| ¢ StrSu

register const unsigned char =n_haystack; // new haystack
unsigned char =d_haystack ; // Dig up haystacks

/f needle data
register const unsigned char =*s_needle; // start_position of needle

int pneedle_size = StrLen{pneedle}; // needle size

/4 initiate data

n_haystack = d_haystack = (const unsigned char =) phaystack;
s_needle = d_needle = {const unsigned char %) pneedle;
e_needle = 5_needle + pneedle_size-1;

ff[2]-

ff [2-1]. Check Error

if{phaystack == HULL || pneedle == HULL
|1 =phaystack == HULL || =pneedle == HULL }
return HULL;

// [2-2].match =d_needle{== d_needle[8]) with phaystack ?

if{ ( n_haystack = d_haystack = StrChr{d_haystack, #*s_needle)) == HULL )
return HULL;

ff[2-3].

while(=d_haystack *=HULL)

{

/7 [2-3-1]. The Work digging up haystack
while{++d_needle <= e_needle && ++d_haystack ?*= HULL)

£/ if not find
if(*d_haystack ?*= =d_needle )
{
d_needle = s_needle;
break; // Exit of [2-3-1]. while()
¥

H
/7 [2-3-2]. if find a needle

if{--d_needle == e_needle && =d_haystack == =e_needle }

unsigned char =d_needle, *e_needle; // Dig up haystacks, end_position of needle

o return  {d_haystack -{pneedle_size-1}};
41 | ;l‘l
ﬁ Name Value

B n_haystack 8x08812ff1e “abc]labca™

B d_haystack 8x08812FF28 “clabca”

[ pneedle 8x080812feb8 "abc™

H s _needle 8x08812feb8 "abc™

[ d_needle 8x8812feba "'c"

[ e_needle
(d_haystack

8z 080812feba "'c™

(pneedle_si

[ Watch1 J WatchZ 3 Watch3 ) Watchd 7
Ready o
3l | while( while(++d_needle <= e needle && if(*d_haystack != if(--d_needle == e _needle
2= | *d_haystack ++d_haystack != NULL) *d needle ) && *d haystack == *e needle )
1=NULL) ++d _needle | e needle | ++d haystack | *d haysta | *d need | --d_needle | e needle | *d haystack | *e needle
ck le
1 *d_haystack | &temp 6 &temp 6 | &temp 5[3] temp_5 temp_6
= (11 |2 (3] (1]
temp 5[2]
2 &temp 6 &temp 6 | &temp 5[4] temp_5 temp_6
2] | (2] [4] (2]
3 &temp 6 &temp 6 | Lol A EE &temp 6 &temp 6 | temp 5 temp 6
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3.7.Reverse
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4. Linked List ==

4.1. Singled Linked List

4.2.Doubly Linked List

A

=
T'__A—-II

5. for()while()=2 £3.

= o ] —_—

5.1.Break &2 ?-LinuxKernel 2| 0|3l
5.1.1.example1
5111.22
#include <stdio.h>
void main()
{

int loop;

for(loop = 0 ; loop <10; loop++)

{

if(loop ==5)
printf("%d\n",loop);
break;

}

printf("%d",loop);
i
—as

B
5.1.1.2.Debug
break;”} 590+ for 7FA|qF g H o] WA}
[ 5.1.12.7H
13] 2 3] 3 3] 4 3] 53]
1.Z=7]1%k | loop =0; 1.Loop=0
2 %A% | loop<l0 2.True 1.True 1.True 1.True True
357 loop++ 4Loop=1 |3.Loop=2 |3.Loop=3 |3.Loop=4 |3.Loop=>5
if(loop ==5) 3.False 2.False 2.False 2.False 2.False
Break break;
for €=
=>loop =5 ©| T}.
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Il
i
KA

i

1->2->3->

—_

o)

-
1o

I

_

oJ
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i

K1

Ll
wi

4. For22
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5.1.2.Example2
51.21.42

#include <stdio.h>
void main()

{
int index;
int loop;
for(index = 0; index < 5; index++)
for(loop = 0 ; loop <10; ++loop) // break 7} 4 &= 3.
{
if(loop ==5)
{
printf("%d\n",loop);
break;
H
}
i
—73}
5
5
5
5
5
5.1.2.2.Debug

break;7} £ & for 7FA|vF & & o] AT
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ANNEX A. Version 22|

o] FX4+= Free Y4Y T},

& o] B9 AZHEE scwpark@hananet.netol Al d5Y T+
A Al HAIE 242 + A
2001/10/22 1.0 ek Pointer ¥4 1.0
2001/10/25 1,1 ekl Pointer ¥4 1.0
2001/11/11 1.5 vHd 2.9.3F3XR0E F7}.
2001/11/15 1.51 kA g 2.3.1.strepy 184 A, 2.5 19 F7}.
2001/12/14 1.52 2 ~2.8 744 AAZA F7}
2001/12/20 1.520 AAA e
2001/12/21 1.53 1.1.244, 2.9.1.2.2.19 +3
2002/1/31 1.1.3%7},1.3, 1.537} 3437}
2002/4/1 1.54 1.6 % Attribute & offset 73}7].
2002/4/11 1.54@ Parsing =73 (7] <4d)
o] A7 Y&Fole ¥ dadel= © EA7F A Y = Ayt
of g @ 71d vy ch
A o]EA7E MATH TR BA miA|a, o] S & A HAA BHA( NEeEs TR
Win), FREZNAE o|EXE T3t z/‘ﬂ&)
aga gt FHeE P veAle. T2agne] vyoe] g FRYUh
HH3le] Win-Win 3hA| 8.
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